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World population growth, 1750-2100

Annual growth rate of the world population
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https://en.wikipedia.org/wiki/Radioactive_decay

Radioactive decay (also known as nuclear decay or radioactivity) is the process by which an unstable atomic
nucleus loses energy (in terms of mass in its rest frame) by emitting radiation, such as an alpha particle, beta
particle with neutrino or only a neutrino in the case of electron capture, gamma ray, or electron in the case
of internal conversion. A material containing such unstable nuclei is considered radioactive. Certain highly
excited short-lived nuclear states can decay through neutron emission, or more rarely, proton emission.
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AMIND NIANA Y»OD MYY DAN DNPA NYIT IN PON 1PN Python NAYA »0NNN MIDN
D90 PN

from sympy import *

t, g, L = symbols("t g L", real=True, positive=True)
T = symbols("T", cls=Function)

de = Eq(T(t).diff(t,t) + g/L * T(t), 0)

dsolve(de, T(t))

>>> Eq(T(t), Cl*sin(sqrt(g)*t/sqrt(L)) + C2*cos(sqrt(g)*t/sqrt(L)))
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TNt IR Q0N DY ONaN

A(t) = —kv(t) = —ky/(t)
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NOYI DY YN PINN 29 DY
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from sympy import *

t, m, g, k = symbols("t m g k", real=True, positive=True)
y = symbols("y", cls=Function)

de = Eq(mxy(t).diff(t,t) - m*xg + kxy(t).diff(t), 0)
dsolve(de, y(t))

>>> Eq(y(t), C1 + C2xexp(-k*t/m) + g¥m¥t/k)
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m ©° 1+ y(t)

Mass: 5.972 x 10%4 kg
Radius: 6,371 km
G = 6.67428 x 10~ ''[m?®/s?kg]
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2020-2040 Dw'7 DITNN N720 :1.1 0220

Year Payment Mortgage
2020 73906.00 | 1000000.00
2021 73906.00 | 967414.50
2022 73906.00 | 933431.26
2023 73906.00 | 897990.32
2024 73906.00 | 861029.17
2025 73906.00 | 822482.59
2026 73906.00 | 782282.57
2027 73906.00 | 740358.19
2028 73906.00 | 696635.49
2029 73906.00 | 651037.32
2030 73906.00 | 603483.25
2031 73906.00 | 553889.37
2032 73906.00 | 502168.18
2033 73906.00 | 448228.45
2034 73906.00 | 391974.99
2035 73906.00 | 333308.57
2036 73906.00 | 272125.69
2037 73906.00 | 208318.40
2038 73906.00 141774.13
2039 73906.00 72375.47
2040 73906.00 0.00
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NNOINRD 09 DOV B

VaN) :(2.2) NRNYN DV 550N PNINAD NOWAN TIT NN NVLIVYN NNTIPN NONTH O
[INAN NNONN NOYA p(x) MWPN

(2.3) [n(x)y]” = p(z) [y + a(y)y]

(2.2) INNYNN SV PNIIOPNR DM NNIPI PNINKD JPNYN DX DDYPRY u(z) 7PSPNO

(2.2) DRNVNN IR (DD 229D TNRN J21ID) TAN MNDOVIN D) MND NINND NON) ON O
D ToNn

[n(z)y]" = p(x)b(x)
NOpa NN NNV

,(2.3) Y9 IR NNAY vy @

v (x)y + p(z)y = p(x)y' + p(r)a(x)y

=)
v (z)y = p(x)a(z)y
199
px) a(x)
p(x)

(a, 8) ONNA p(z) > 0 TIAY NNIN PON VIDND NN PYNNY »TO02 O
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NINDD MPONY ON YO0 10210 NN NIV MPNMOVIND 2NN TAN NN XINNDD NDNIVN NIND
NN NNYYI MNNNNNN NTIAYD MNIND MO MD DI

DWIY 901, (o, B) NTIAYN YOPI 22PN MOV PNDLVIND DIV NTIAYN NN NNN O

[In p(z)]" = a(x)
NID 1OV TPNDVYNRD O 1O

I-"(m) — ef a(z) dz

(MM2Y P90 DN TN AN MNIND POYR V¥ [ a(xz)dz »NV2D ,2IV)
MW o
[n(z)y]" = p(z)b(x)
D yan
u(@)y = [n(@)b(@) de + C

NI (2.2) WWRI ITON IPINON IRNYNN OV 25550 NININ 19N

1
(2.4) y(x) = @ [/u(w)b(m) dz + C

Q0N Y0P MPXI b(z) ,a(z) NPIPNN INND (a, 8) YOPI DITIN MNINSN 5
| YOPN 992 p(x) >0

D052 NOVW D290 MNING DNPPY JON» ONRN 9950 NINON NNNI N OXN :NORY O

NNYNY NINAN ORY TYNN N1 2ZMINKR MOXY MYNNNI 07PN YIND 1) MINY 12

MY TN ,NVN PR T NORYD 1Y NPYONONIINT MNNIWHD ON»P VONNL TN ODD
NI DPND PRY INYN NNE D02 N0 MNIND OV IPAOIDIN NNAYN NNONND NNG

DRNVNN DV O000N PINSN DX X¥D 1 NMAIT @
zy +y =

P90 NNYS NaY) [INND

1
Y+ -y =2
xr

NI TPNNVOYND 0, b(x) = 22 a(x) = 1 )99

xTr

a(x) dx %

pu(x) = el —elz =P =g
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1o

W@ = i | [u@n@ da ]

:;Vﬁm+4

= lEHe=5+g
NN 29900 PNINON 1O

3 C
y(x) = 1 + —
x

DOV NIANND T DY IRNYHNND DX IMO 1IN ,0APNNY 25950 PNINSN 2D 1T Yoo O
M»naa TnYN3)

322 C
’ _ > _ =
yi(o) =—— 3
95
, 322 C 3 C 3
KA ey

1000
750 A m 3 c
500 1 y — B _I_ N
250
>' 0 Legend
— c=-4.00 c=-0.75 =225 — c=-0.04
— ¢=3.75 c=-0.50 €=2.50 —— ¢=0.00
5554 — ¢=-3.50 c=-0.25 =275 —— c=0.04
— c=-3.25 c=0.00 €=3.00 —— c=0.08
— ¢=-3.00 c=0.25 =325 — =012
— =275 c=0.50 €=3.50 —— ¢=0.16
—3007 —— c=-2.50 c=0.75 =375 —— c=0.20
— =225 c=1.00 €=4.00 —— c=-0.01
—— ¢=-2.00 c=1.25 €=-020 — c=-0.01
=750 7 — =175 =150 —— ¢=-0.16 —— c=0.00
— ¢=-1.50 =175 — ¢=-0.12 — c=0.00
c=-1.25 c=2.00 —— c=-0.08 — c=0.01
-1000 c=-1.00

zy’ +y = 23 NNIWDN 72U NRNNON NN9WN 2.1 1I'N

555N PINON OV DYPN OINN NN :MONRY @
TN DPPN VIYNY YOIV ,TYNNI INY 1NIATY DRIAN DV D DVO v @

TN PINS N2 (NMXNYNN DV DPPN OINNA) NV NI NP DO 71T N
NTIPY DIV DOWIN) DYPN DWW MNINS MY 9D .2

(NNPP RO IRNYNN DAY MTIPID VI9) NWNN DD X NDIN MNINSN NNAYN )
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NNIN NONNNN DY NAY 09 PIND XN 2 NNMAIT O
xy + 2y =sinz, (0<x < o0)
{y(ﬂ) =0
NN NINND N0 1ON INNRD PN DRNYNRND OV 0500 PINSN NNONNA PPN c|INND
9N NNY VAN PINN

NI TP DOPND OMWN ,b(z) = 2 q(z) = 2 OY
“(w) — efa(w)dz — ef% — e2lnz _ ;.2

(2.4) *525N PINSN NNONA N

y(x) = N(las)l/u(m)b(:v)dm—k(?]:;[/wsinmdm—k(}'l
= w—ﬂ[—wcosm—l—sinm—l—()’]:w%[sin:c—:ccosm—i—C]

NN DNNYNN DY D00 PNINSN IO

sin cos T C

) = — —
y(@) xr2 T T x2
DV PN
sin Cos T C —1 C
y(m) =—5 — t =05t =0
s ris bis is e

NI Y090 PINON PN ,C = —7 IO

sin x cos T ™

yp(m): 2 - z _;

NOPY MNINAN NNAVN DV 1973 DWIN oD

.
sSin COS T (&
2 2
& €T H 4
Legend
— ¢=-9.000 — ¢=6.000 — ¢=21.000 — ¢=-0.040
—— €=-8.250 —— €=6.750 —— €=21.750 —— €=-0.020
—— c=-7.500 — ¢=7.500 —— ¢=22.500 ~—— ¢=0.000
—— ¢=6.750 —— ©=8.250 — €=23.250 — ¢=0.020
—— €=-6.000 —— €=9.000 —— €=24.000 —— ¢=0.040
=—— c=-5.250 = £=8.750 — c=-0.700 — ¢=0.060
€=-4.500 €=10.500 ¢=-0.560 —— ¢=0.080
— =-3.750 — ¢=11.250 —— €=-0.420 €=0.100
c=-3.000 €=12.000 c=-0.280 — ¢=-0.010
—— €=-2.250 — €=12.750 —— €=-0.140 ¢=-0.008
= c=-1500 =—— c=13.500 — €=0.000 —— ¢=-0.006
— C=:0.750 — ¢=14.250 — c=0.140 — ¢=-0.004
—— ¢=0.000 — ¢=15.000 — ¢=0.280 — c=-0.002
— c=0.750 —— c=15.750 — c=0.420 — ¢=0.000
—— ¢=1.500 —— €=16.500 —— ¢=0.560 —— ¢=0.002
— =2.250 —— ¢=17.250 —— €=0.700 — ¢=0.004
¢=3.000 c=18.000 ¢=-0.100 — ¢=0.006
i —— €=3.750 —— ¢=18.750 —— €=-0.080 ¢=0.008
0.0003 -10. c=4.500 €=19.500 c=-0.060 — ¢=0.010
X —— c=-9.750 —— c=5.250 — ¢=20.250

zy’ + 2y = sinz NXIWNDN 7W NDNN9N NNSYWN :2.2 TI'N
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PYRY 9700 IR ARNYN NAY NN OPPH VOVN

N7NNN 'NIN DY [IWUNY 2TON N'INYY? NNIWND MM 2.1 0dwn

(2.5) {y/ +a(x)y =b(x), (a<z<p)

y(xo) = Yo
TWND

(a, B) YOPA NID'XT NIYPAD b(z) ,a(x) .N

a<xzg< B .2
y(xo) = 0Nl (e, ) DINNA NXRIYWNDN NX NONIBY y(2) DTN NNN N'XPA9 NNYP 'R

-Yo

PXOPNA DM NOW MYSNK NSYNY INMN 125 595 PNING YW 1MPP NN NN2IN
1
y(@) = —— [ [ut@be) da +
p(x)
DI LVI9 PINAD OTPM
B(z) = / 1(x)b() dz
N

y(@) = —— [B(z) + C]
p(x)

22PN T = o NTIPIN NN XD

Yo [B(xo) + C]

B p(xo)
NP) DN 195
Co = yopu(xo) — B(x0)

Yp(To) = Yo OVPPNY gy, >OI9 NINS D2P)
y(@) = —— [B(a) + Cil
p(x)
,(2.5) NONNNN NPY2 SV Q0N NIND NN 2z = 2z(z) 2D NI .PIANSND NN NN NYDIND NN
NN 0”P0 27N z(z) NN OV TY DO NI NI’ ROV IYTN NV MYNNHNA DApNnY
PNVN

[n(@)z(2)) = p(z)[2'(z) + a(x)z(z)]

§2.2
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DNNYNN DV 19909 5 OY M 1PNV OPPY 2N p(x) MNNDVYRD DIV NOYND NN 1OV
"V 0 C; Yap 0”p NN PN LY + a(x)y = b(x)

z(x) = m [/u(w)b(:c) dx + C;
gla)l
1
z(z) = — [B(z) + Ci]
p(x)
22PN T = o NTIPIN NN XD
2(@0) = 0 =~ [B(ao) + G

19N

C1 = you(zo) — B(xo)
’D 1PN DAN

Co = yopr(xo) — B(xo)

TN PININ NN y,(x) ,I0D y,(x) NPNAD Nt z(x) PPN 199 ,C; = Cy 19N
i (2.5) NO5NNNN N»yad

DOV M2YNN . TYNNA YINOY MINNYN M0 NN Tiya on»p M) 0rp vavn @
DX ONPVI2N 0N NI ,NNN) N7”YIA PNIND DY OPP ONPVIN DO MYNRI DNV T2 NN
DYTIN MATIP DXTPYY DN ,PNN NI L, PNOP NP DD DOINNA . PNIN9N MY
D022 NTOY PINSN MTNY .NMNY MIIWN OV TTNY NAINN MDN DYO DPONNN
2200 MPND MIVOND

NMYLY DDA YIND >TO2 NN MTM DPPN VYN NN DY NP TN MMan @
INOT DNO PN DD

NoNNNN H”Ya3 yan 3 nnalT o
{wy’ =2y
y(0) =0
NN NNNNND DY MNINS NOIN N WY 71720 NYP RO
cix?, —oco<x<0
y(x) = )
cx®, 0<x<oo
D'N2N O2TY 20 DWO W

PYNNN WD DO DY MOYNI D) MININON YD N

IMNING DY NPIVNIO-IT NNAYN N2 W NYUNRD ATON NIXNYN Y MIND .2
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T2 ,y(0) = 0 NONNNN ONIN DX D) OPPN N INAYNI NYNPNOIN TR 9D )
PR 0Ypn VYN NIYLD

noNNNN N»yab oy .7

{wy' =2y
y(1) =3

ITININS NOYN W
cx?, —oco<x<0
y(z) =

322, 0<z< o0

DNV TY ,MTA DPPN VAYHN NN PVIODND NVLVLINY ' NHRNT 2D NI NNINDD
DNND IIPONINN INNND NPIND MNNYND P ONYNN MM OPPN VIYN 1D
N 1OV IRNVNND DV 1PONININ

y—-_y= 0
MTM OPPN LAYNY 29D PYNNN WD DD DY NPT NN ,a(z) = —2 PPN
D»PR’ VAYNN N (—o0,0) DINND N (0,00) DINND IMYAN NN 92X DN WNT
NoNNNN N»yad ,Swund aNdNa

{wy’ =2y, (0<z<o0)
y(1) =3

STNI5N5 DVISN NN PRYI . (0,00) DINNA y,(x) = 322 NI AN TN PINS O”P
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PN PV TV NaPH YAV

NI2NN NXNIND MSNY NOYI DY MIAIPIAN PIN DIRNYND RN

T'(t) = k[T(t) — C]

97N ¢ A2 ON N9P Y90 HY NMLIONLA NN NINNND T(t) PIPNON N AINNYNI
YINPO NAP NIN k71 L,(MV1Ap C NMOI9NLAY NN NN C NN 19V NMNMVINLNIY
AIPNNY VPPAINA NDA NHNN

25° DY N7VINNVIA ITND DI POYI YA
DV PNSNNN NNVINNVIA NP IO DY MOYN
MPT 10 NN (T(0) = 90) MOYN 90°

DPION MOYN 70° NN NOPN NNVINY

A\ N -5 AN NAPN NNVINY TN (T (10) = 70)

Newton’s cup of coffee :2.3 W' 2Moyn 30°

NPYNRI ITON NPIND TPONONITNT INNYNL I2)TH 2D MNXID 1D OP >NONN 25v1 :|INND
NoNNN NN DY
T'(t) = k[T'(t) — 25]
T(0) = 90
TPONINN NNNNI DNNYHNN NN DIVID N8I

T'(t) — kT (t) = —25k
T(0) = 90
DN DY DNIAPNA TR LURIN N ODD TITA K OOORPIVON WAPN M NVOXPPHS Nyaa
LT(10) = 70 :N0WS NNNX DNOXT T DY IMN MO0 ) T MNXIND MINTIN NN
DM PN L,b(t) = —25k ,a(t) = —k ,MN NIPNI 229050 NINSN NNONND OTIP Y DIAN
NID DOV MPNDVIND
p(t) = el a)dt _ —kt

NN D000 PNINON

T(t) = uzt) V p(t)b(t) dt + C’] = ekt U (—25ke™) dt + C]

= e [25e—’“ + C] = 25 + Ce

§2.3
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19 ON NN TPONONITNDTN IRNYNIN OV 20550 NINON
T(t) = 25 + Ce*

NV OV NOIYN 5ap) ,T(10) = 70 MPXTM ,T(0) = 90 NONNNN PNINI VY T DY
C ,k DMOYIN YA MNNYN

T0) = 25+C =90
T(10) = 25+ Ce'® =70
YN VD ARNYHOM ,C = 65 MM NNIYRIN INNYNN

1 45
= —+ln— = —0.03677
10 65

k
N> NOPN D90 DY MIIPNNN NYSPNS 10N
T(t) — 25 + 658—0.03677t

DT T(X) MIIPNNN DPIPN 2D DN PYNT VAN NPT YD MNYN NIN £ TUND
(2.4 VIVIY NN 25° ATAN NNVINVY SVIVHPON J9INI

[0 —

=]
o
L

T(t) = 25 + 65003677

n (=] =
(=] o (=]
L L L

Coffee Temperature (Celsius)

ey
(=}
1

30

' Room Temperature (25)

0 20 40 60 80 100 120 140
Time (Minutes)

(NIPT) t = 150 7t=0 |'2 N9SPN 790 7¢ NIDIDNON N"XPAo 2.4 I'N
DINNYNND DX NN L, 30° 7D YHN NOPN NNVINNY NN MOHD »TO2
30 = 656_0'03677t + 25
02PN ,e 003677 — 55 NPV
1

5
t=————"-In— =69.756
—0.03677¢ 65

DX MNWYD »TD2 19T P290N) MPT 7072 INRD 30° DV NNVINVD Y NP D90 MDD
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LOONPPS PIN Y MDXDY VXD NapPN

PIND = RNIDYN NRNTN DY WIAP SWTIN 91NN 2Iwn IR

NN MINIY RMOWHD INNWRD Ny O

e 20 -7 XN1DWN 7V NYXInn NN
” MY PYAN NN Y OIRN NN
. \/\wf oV 1271 NV NI RNMOYN NNPOY
35 ____,«-/\"“
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% WTIND RNNN NN .Y 20 TVNd 4.2%
P19 MMV 99151 DIDON M IIPN
RO NS O I CRC AN 7NNNDNN NOYPN OINA
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MY 20 77 NNDWN 7W NYXINND NN :2.5 'R
0o O
(DY DV MT M) YN MNYN ¢

t YOt ARMONN DTN M (t)

(r = 0.042 TPNONN NHXNT) [0,1] YOPA WHRN 190N 1IN 9T ¢
(MY NIPN XYY PR NTAD WAPN N|NIN 9T P

(D2IY) NDIDYNN PN TN years

N NIANN NNNIN2 1)73’|7\’) DIONONITN INNIVNN @
M'(t) = rM(t) — P

NNAY DONDN VDX T ADVWAY NIYNXI TN NPINPD TPONONINDT MNNYND 12100 20N

Y9N NNNA ANNYND NN DWW DD YNRY O
M'(t) — rM(t) = —P

PN
a(t)=—r, b(t)=-P

NDVIN O WD
H(t) — efa,(t)dt — et
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295 NINS
M(t) = uzt) [/u(t)b(t) dt + C] = ¢ U (—=Pe™™) dt + C]

ri P —rt P rt
= e"|—e"dt4+C| = —+4Ce
r

r

(1D23v 5V MTNA) ¢ P2 RNIDVN 2IWND D000 NINN NN NODP
M(t) = Ce™ + 1:
DXINIA YNRNWYI IOV N»Y1aY Y090 PNINSN NN NINND »TO2
r = 0.042, M/(0) = 1000000, years = 20

, P D0OYIN YA MRNYN PNV DV NOIYN 92PN ¢t = 2071 ¢ = 0 D000 )PINSL >N)

C
P
M (0) = C + — = 1000000
T

P
M(20) = Ce*" + — =0
r
D THN DAPY DOHYNVA DY NIONN T DY

10¢
C=———"—"—=—-759666.58

T 1 — e20:0.042
22P3 VN YPNYA C NIAND T OM

_ rM(0)e*"  0.042 - 109 . 200042
 e2r —1 £20-0.042 _ 1

= 73905.996

INND R OVTIN 2IWNA LMY DD May Wapn wnnNn M
P
Monthly Payment = i 6158.833
NI (MOD NMOYYY TN NTNNN KROYD) NIV 20 INKRD NNMOWNN SV 595N NN
Total return = 20 * P = 1,478,119.93

NNDOWYHND NOPN OMND Ty ¢ = 0 P2) £ PN YD 922 RMOWNN DT OV 21wnn
Y090 PININ NN MYNNNI J2ID Y8IAN? (1PN 19N Lt = 20

P
M(t) = Ce™ + — = —759666.58¢e°°*?" + 1759666.57
T

2.6 VLIV NIV NONN MNDNT NNAD N2 NININKRD INONN THO DY
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1500000

1400000 - M(t) — Cert + B Payments
r

1300000

1200000 A
1100000 A
1000000 A

Mortgage
900000 A

800000

Loan

700000 +

600000

500000 -

400000 A

300000

200000

100000

04

DY ITNNN 7T XNIDWNN 77712 112y NITINY NDOAN'T 2.6 'R

NNTNIM NP

o http://tutorial.math.lamar.edu/Classes/DE/Linear.aspx

e Paul Dawkins, DE Complete, p. 24

2 P197 D'2'AN

7V D'YNI7W 197 72X .0"7' 20NN N'2IN7 D'R?ND1 D910 NNRINND N'7'2NN 10'91' NNANN7 MIW'P W NN'YAN 9102 :121TN
MNXY NINID2 N9'7 TIND Y7NIN W'PN

MIN2N NPONINIINTN MNXNYNIN NNN 2D NAY 209D PINS N¥N

y+y=e?* .2 zy —y=—x .1
y' — ycot(z) = cot(z) .4 zy' +y =sinz .3
zy —xy = (1+x?)e® .6 2y —2zy=3 .5
zy — ny = e*z" ™ .8 1+ 2*)y —2zy = (1 +2?)?* .7
tanx
y — .y = , 0<x <3 9
sinx 2

y + 2zy =222 .10

zy — 2y = 2z* .12 y' — ysinx = sin(x) cos(z) .11
y' + ytan(z) = sec(xz) .14 2z + 1)y =4z +2y .13
2’y +zxy+1=0 .16 (zy + e*)de —xdy =0 .15
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(2z + y)dy = ydx + 4Iny dy
(xzy —1)Inx = 2y

(2¢Y —x)y' =1

’ y
3 — y?

Yy

.20

22

.24

y =y — xcos())
2z(x? + y)de = dy
(z + y*)dy = ydx

(sin2 Yy + x cot y) y =1

MNINaY nwp €

A7

.19

.21

.23
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NPINININNT NINMIYN
PYNRY 97010 NPYINII-ND

NPONONITPT MNNYN DY PINS MTHN 0P NAY DP2a0N DININ NDID PISN NIVN
PINAD NNV MDY 1X) TOD QDN .NPIND NIOND 1PRY [ PYRT 1TON NrdOD
JDPINYO-ND NMINNIYN

NOMP N, NPINYD MRNYND PIND INY MONO0N 2110 )N NPINOYI-NXD MNNYND
PINS NNONNY NPVIVIN MO IPTA PR DIPNN N30 .ONMNX NN NTHAX NV
5NN MO T DY NN XY OTPNND DTN TITN 190 .I0INYD-RD INNVN DY
NNAYN D00 MTNYHN PNINS MOYOY MNP >T> DY ,DaMYN OXIONND MOY2 MNOvN

alabi)a)

1Y NYUNRI ITO NPINPD-RD MRNYNI DV MNAYN 19010 NN T2y PIsn N>’NNa
PONDT 912 MNNYNI PN DIPVN MNRNWN (separable) MTI9 MOV TPON?
TNNAY IV MINNYND DY MNAYN 19010 T (exact equations) MPNTHN MNNYN

I0IVE MAND MYNNNI

NN N2 OINK DYTN NPPYOL DOVYND NIRY NPINPD-RIN MNXNWNNIN 1) PON
MPNS MRXNYND JMIN 2P0 1Y MNAY IX) MONDN XD NPLVNNNY MO MYNNINI
00N PYT DY NN T DY

TON NSO MNNYN NAY MPA OPPN VAYN DY D190 MDA PISN NN DPD)
VAYND NINRDN KD TPNNO0 NNDIN D) 1N DY DNYN DV NIPODNI PNTN )IYRI
AW vm NTna)
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M9 NPINININNT MIRNYN PN T

NT9 NXIWND NXPY o = f(z,y) [IWRI QTON NZXR'YINDT ANIWD - :3.1 NNTan
y 7Y N'XPAID DY z 7W N'XPAID N79ONYT7 f(z,y) NN P97 [N DN (separable)

Yy = f(z,y) = a(x)b(y)

JINY NP0V YONMRN PITN PN 191N INRD NPIOVN NNXTND DN NN DY NN

INNYNN DX N9 1 AMAIT @

YTty

Y270 5V 20N NOVXWYI NIAY)
dy  z?
de 14+ y?

O)NYN NTI9N YNI)
(1 4+ y?)dy = z*dx

/(1 + y?)dy = /:czdm

y3 w3

g C
y+3 3—1—

PXIIVIN YN1)

pjalp)]

NNAYN MDD .10 PN WAPD IMN AYND JTPN INRD ONRNDY PN AP DY 1NINMN
(MMIND NIN) MNIND DY MIVNIS-TN

Yy +3y—z2=C

NONNNN N»”Ya NN NN 2 NMIT 8
dy 3x?+4x 4+ 2

do ~  2(y—1)

y(0) = -1
O)NYN NTI9N
2(y — 1)dy = (3z% + 4z + 2)dzx

MPNIIVIN
(y—1)2:m3—|—2:c2—|—2:1;—|—0
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NYMON NNNI MNIND DV IVNIS-TNH NNOYN DAPO N0 MN NIPNA

y:1:|:\/:133—|—2:1:2—|—2:c—|—0

NoNNN NN
y(0)=1++VC = -1

YN9N Y09 PNIND P

yp(m)zl—\/a:3—|—2m2—|—2m+4

NN2N NONNNN I”ya X N9 3.1 7'aan 8

dy 2z
de y+ z%y
y(0) = -2

NPND TN OV PINON CTIND OP :JINND

Yp(x) = —\/2 In(1+ x2) 4+ 4

Q'INYNDN NTI9N NU'WH 'VIINN 0'0] [

NTI90 NNXNYNA NN

dy

& = f(@,y) = a@)b(y)

IN2N NNND Y b(y) V22 DXOINN Y PN > DY
d
(3.1) b(y)—y = a(x)
dx

lalel!
B(y) = /b(y) dy
PO Ly(z) MY INPN PPD I NVYNIOV . DV TPNPND NYYND NIy NINYNN 2D PO
PNYO NPV (3.1) YPNYN
b(y(z))y'(z) = a(z)

B(y(z)) D220 MNP NPO NIYVIYN D00 DX 121D 130 O b(y(x))y' () Mv2an
x MNWYNN 9

d d

awlW = g, BW)- Zz = B'(y) - y'(z) = b(y) - y'(x)

PNV NPV (3.1) YNwn 195
d

~[B()] = a()
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22PN DXAINN NV DY ( 29D) NPNNVIN YNI)

B(y) = [a() de

[ew v = [a(@) da

2N INRD DTS DRNYHD DOV PNINSN NP2IOYL D023V YYD XN PINKRD 1PNYN
725 DAY DWW PR D,V WHTY (NMND NN 595 TIT3) 2000 PINS DAP) DIDNVIND
INNVNN DY MNINN DD NN NOND 1t NNaVNY

NaNN MO

MIANN MYSHNNI NN 1) DINN YT NPPH9I DUNY MNNIYNNN DV1an XD PON
N PYD N NND DY TH2) MO

M9

(Homogeneous Differential Equations) 'a1DIN O19'VD NINIIYD

NANNN MYNHINRI M9 MRNYNID TIOND IV MIXNYD 1N 2NN DI1I90N MXwWHN 8
AN DNONN NN NANNM = DOV MPNPNO NI v 2D WITY v = %

)

DNRNYND 000 PNINS XY¥N B3 NNAIT @

/

Y- 4x
l—
N9 IRNYND IRNYNN DX TIOND 2102 v = 2 Pn3axna vnnw :jINnod

y — 4x -4 wv-—-4

T —vy _1—%_1—1)
v MYNNNA y' NN NV
Yy = v —— y’:'v—l—a:’vl

=P
, v—4
v+ xv =
1—wv
1o
dv v—4 v?2—4
r— — — v =
dx 1—wo 1—wo

OINYN NTI9N
(1—wv)dv dx

§3.2

§3.2.1
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22p5 5P (9.3 Pyv ,1 NN NINI) OO DIAVD Pron now Y’y

(l—v)dv: —i n —%
v2 —14 v—2 wv+2
L 5 PNIIOVIPN
- -5 dx
4 4 dv =
/(U—2+U+2> v T
1o
1 3
——In(v—2)—-In(v+2)=lnz+C
4 4
(92L 225
1
n[ T 31:lna:—|—(§'
(v —2)i(v+2)}
=P

1
; + = Ce
(v~ 2)¥(v +2)f

€T

250 PINS 5P
e [(v—2)i(v+2)i| =C

TPNPNN INNYND 950 PIND 21PN v = £ N

(y — 22)i(y +22)7 |
€T

=C

AMMIN9) OPONVIN ONP 50 NN ANNYNN DY DNPON NTY NN NI 3.1 VIVIVA

N YONMY MADN MNANT 3.2 22N O

B x? 4+ 3zy + y?
= 2 i

Y+ 2zy
=

m.‘a.
SRS
Q..‘@..
SRS

(Jacob Bernoulli 1655-1705) 21272 nNIUD IR

NN OO INNYN DY YHOON NNN @

Y + p(x)y = q(x)y"

,(TIN DY THN TN DPXPON NYN DY DPVNNN DOTIND IWPNA NP NMY NN
PINAD NOWN DAN n = 3 W n = 2 0N NN DIPHN NPPPo1 .ONMN N2POOM
NANINA 7D DY NP YY) on DV N0V KD O°OIYa D) NDOLVH PO MNNIVN

D'NAN DY

19193 NRNYN TP 97
Bernoulli Equation - HyperPhysics Concepts


https://he.wikipedia.org/wiki/%D7%9E%D7%A9%D7%95%D7%95%D7%90%D7%AA_%D7%91%D7%A8%D7%A0%D7%95%D7%9C%D7%99
http://hyperphysics.phy-astr.gsu.edu/hbase/pber.html
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L e e e e e i i i e e i i e e e e e
10 S A e e e e T A B B e e A ! '/
- e e e e T i e i e e e e e i e e -,
- = - - -
= T g - = 5 > oAA
- - - = - = R A B A A N A
5 g = o B R A A A N N A |
- = I A A A Rl
5 = - PR N A A NN
—n g )’)':'a‘ff!f!ffii“*“
= e o AP AP B A | ffffffi‘**}“““\‘\
= N — 177 Fobvivaveys vy v wwa
. = A R N N NI |
o L g Rt Al Ty
f"\\l\\‘l\\\\\\\\\\\\\\\\‘l\\\\\\\\‘a\
0 e e R T e e e R T T T T T T T Y
= WM M M M M M M O MM M M M M M M M M MO MM M MMM O OM M NN NN
= M M M O M M O M O MO OM M M M M M M M OM M M OM M OM MW M M M M WM
MMM M OO O MO M OO M M M M O M M N M O M WM M ONM WM N
T T T S T T i S Y
MMM M O M MW O M M OO OM O O M M M ON W WM
= MM M M M M MO M M OM M OM M OM M M OM NN
-5 SO T oM O T O OTE M O R OM TR OM M OWM WO
I S S Y
\ I S T T T S
*‘x\s\'\\\\-‘
\ R
\:\. - e
-10 &
i ) - -
e Sl e e e e e e e i e . -
e N N e e e
R N T e e e
15 (o =% " % kW MR R R R TR SR T
e e s e . Tl Tl S T e Sl R S . .
e T T . N e e T T U T U Y . .
e T T . L e e T L U I N . .

(=]
[a%]
w
s
o

’

_y—4x
iy

NNIYWNN 79 DI NTY 3.1 N

DY DIPNRD NPIDN T DY YNAN INNYHNND NIND

(A

PYNRT ITON INYY NN VAP IN =0 DX @
Yy +p(x)y = q(x)

LOTIPN P92 NN NTNRD NN
DAy n=10ON O
Yy +p(x)y = q(z)y

=)
Yy + [p(x) —q(x)]y =0
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D79 1D29N) (NPDIMIN) TPIAINYD IRNYN NODP W
ANYOD YYAN NN ONNY MNWYN NAYNN Y81 n £ 0,1 OX O

v(z) = y(z)' ™"
D) DWVWAY 501 PN
y(z) = v(z)T=

DY9INN Y DN NN

y(@) = u@) T (@) = o u(@) T ()

NNNYNI 1°X)

(@) V(@) + pa)e(e) TE = g()o(e) T

TPAPON IRNYNN DR 92PN, 71 v(z) =7 Y22 DR MY NN PN

(3.2) v'(z) + (1 —n)p(x) v(z) = (1 —n)q(x)

DNNYND 259D PNINS RYN 4 NNAIT
2y +2xy —y> =0

n =3 DY D12 NNNYNI 12ITN 2D MNXID NYP KXY :|INND

;| 2 L
Y+ -y=—y
x x

N JND IWINTN NANDN D0
1 2 1
0 p(x)=—, gq(x)= —
] x x
PINOYD INNYN NODP) (3.2) NNDNA DN
2

v'(x) — iv(w) =—=

PXVINA O

_ -2 _ _—4lnz _ —
pu(x) =e =e ==
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295 NINS

o(@) = ﬁ[/ n(@)o(a) do + |

X
— 1 ____ pnownn 7w NDNNSN NN9WN :3.2 I'N
\/ & +Cz4

10 ON NI TPIANYON IRNVNRN DV 9550 PINN
2 4
v(x) = — +Cz
5%

NI (021392) TPMPNN IRNYNN DY 205510 NINSN
1
NIPNY,PVLIDND HYNN PR C 0NN DNNDN OIPN 2D TN I RNONT 2D JPIN)

NVPEPND 40 DV D97 MNXID I 3.2 ©VINA 22PN NPND NN 22NNV IR AN M
JNIN9N NNavHNN

y(x) = [v(z)] "2 =

(© Samy Zafrany (mail@samyzaf.com) version: 15.10.2024.a https://samyzaf.com
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anyt a'llp Nin EEs

PNPNON JNAY MNNYN 1 NTY NASIN NOW JNIY MNNYN NNOYNY ININ NONTH O
DY ONP SV M NN f(z, y)

;e + byt

azx + bay + c2
NN DIMO v = £ NANAN NMAYY DOIN NNV ODIAPN ¢; = ¢, =0 DN DIPN1 O
DY MAasn DYV DINK DIPNA .N»Yyan
DY NV NIND NOVIVE NONT NN NXRAN INNYHDN 5 NNAIT @

. —x42y+1
y:

20 —y — 2
TONN & =z — 1 NVIVIN NANNN DAN DT NYN) NN NN ,TPIND NN NN

IMNMND NN
dy —2+2y
dé 28—y
DNNVNRN MY Tiayn KO NNTIPN Nasnn @

— 2 1
(3.3) Y = T+ 2y +

20 —y — 3
595 AN NANN NYITY M NIPNA
T=x+ «
{?3 =y+p
LB, DV DIRNND 0°DIY 7INAD 1TOL JVIVP YHINND YITI DAN

:0”VNN DWAPNN VN0 NN OV NIVNN @

—&+29 = —xz+2y+1
2 —9Yy = 2¢—y—3
25
—r—a+2y+28 = —x+2y+1

2r+2a—y—pB = 2 —y—3
DI0Y) VA MNXNYN PNV DY NOIYN 10P

—a + 28 1
20 -8 = -3
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N NNV

a = -3
B = 3
N (3.3) TPONONITIDTN IRNYNN DX NNAY >TO2 ND OPIPT INRY NANNN 120
T=x— g
J=y—3;

TPINMIN IRNYND NONN (3.3) IRNYNRN PHINNVY
dy —Z + 29
(3.4) if = AiAy
dz 2 — ¢
NNNN IRNYN DD OO0 19N O

dy ez +by+a
dr  ax + by + o

NN INNYND PHND N2
iﬁ . alzﬁ + blg
dzx aziﬁ —I— bz'g
NOIWYNN INX NNAD DNV MNINT NN

aa+ b1 = ¢
axa + b8 = c

U — MDD MRNYNNY NIPNI N a1by — azb; # 0 DX P OX NN NNE NOIYN

bh _a

‘b c2

NN NONITA DN Svrn novn @

dy Sz —2y+1
de 5xr—2y+2

APY-"NS2 NOIYN D2APNN NI INNRND
5a —28 = 1
5a —2B = 2

YN NN NNON OIWN TAN NIANN ,NOND OIPNa
v =5 — 2y + 2

Yy NN NV
dv dy
— —=5-—2-*<2
dx dx
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1o

5 1dv v—1
2 2dx v

NNNNY ONNYN PO0D 19IND D'?'APnN DAY NIn O

dy Aaz + Aby + ¢
dr ax + by + co

, (e # Aca)

NANNN MYNNNA NN N2
v =ax + by + co

N9 PN 22APIPNY NYTRN IRNYNN

dv _ (a+b)v+b(c; —c2)
dr v

ANNN DN O ANY VNV PPN LDINDNN DX NDIND RNPD PRY)
TPONONINDTN INNYHNN IX N9 3.372'aaNn @
dy dzx—y+1
dr 8z — 2y +1

y’ = F(ax + by + ¢) NISND NI'ON'SINO'T NINIYD 19

NN NPONONITPT MRNYN OV MNIT MXIAP NN I NN¥ NN O

y' = F(azx + by + ¢)

6 NNAIT @
y =tan*(z+y+1) 2 Y =(x+y+1)? X
y=@+yl+n@+y]-1 .7 Y =2+y—2z+3
y = sin(2z + 2y) —sin®*(z +y) I y = —1+Vext

NANON IND D) O
v=ax+by+c

D790 IRNYNN NN TIONN

Ty ¥ .NAND OV AN 20950 YYD MINONT PN O PY02 NHNY NIANIN MOV O


https://samyzaf.com

55 [IUNI 2TON NIMNY'?Z-N7 NIMZN'XINO'T NINIYWN @3 919

17Y20 MNIRNNN MIANNN NN NINNDD 0IYID YIT? RONM ,MMT MP2 DY NID-PN
LDOTIP N2 SPM) XD DN D)

(Jacopo Riccati 1676-1754) YONRP NNNIVN P

101N N20D NN N INND .NPONIPN YONRPII NRNYN DY 7NDOVNI QYO NN 0”0y 8
NYP ND) DVI92 DHVI PIYNNN TNOND PRY) ,ONPN

N DNNVWNN DY OO0 NIND @

Y a@) + b(@)y + ()’

ND) MDY 1000 PN NXINND 1) yi(x) DOV 209 NINS WIT ORY TOI NIORNN NN O
NANNN MYNNNA (0595’50 NION3
1
y(x) = ya(x) + ——
v(x)

v(x) PPN PYNRI ITON MINYD INNYND NNV
v’ + [b(x) + 2¢c(z)y1(z)]v = c(x)

9905 1 DNDNY WIND TNONY PRY)

TPONINIIN TN INNVNID 000 PINS XY 3.4 2'aaNn O
1y

y=—--+y
xr £

i (z) = 20790 PINSN MO T DN

MPNTN NINNYVND EN

PN TION TONN YNAD NN NPPONRNNN ALY MNTPNND NPNPYN OOITH NNX O
MPAYTIN MRNYNND XY .PNIND N7Yan YD MY XY (Reverse Engineering) Nyad
O DVNID NAONND NONMT NN

NNNOIM NN @
F(x,y) =C

y = y(z) MNPND NMNIND NN NPTIN ,DNDIDN DNIN NNYPN PXPNN TWUND
F(z,y(x)) =C

TON TPONNINDTN ANNYN NN 2N, MNVNRD 292 NINKRD JPNYA DY NNIND NI
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UNA
F,+F,-y(x)=0

MYON SV OMPON Y DX PITAY W) .INRIN MIYON DR MIND NYP R

TPONONINSTN INRNWNN DV 2ODON PINSN [NV @
F,+F,-y(x)=0

F(x,y) =C N0

NN TPONOXITT ANNYN 13D NNN) OX 2D N Myvn PPonY 5O0N O
d
(3.5) A(z,y) + B(z,y) > = 0
dx
"V 7D F(z,y) MSPNI NNYP ON)
F, = A(z,vy), F, = B(z,y)

NN (3.5) DW 10550 NINSN RN
F(z,y) =C

DPTN ARNYND NRIPI M NONN TPONOXITINT NINNYN
NN AONNYND 7 NNAIT @

(y* + 2xy) + (2zy + %)y’ =0
oOYPM F(z,y) = zy? + 2y N1AY 2D NPNTHN INNYND XD
F, = y2 + 2zy, F,=2xy+ y2

NN OV ODON PINSN 1O
xy’ + 2’y =C

>TD2 M2 PIVIP WINT PO F(x,y) MSPNON NN YNID Op TNN ROV NN Ivyan
JING V2P0

2V) 2 WP DIWD DINNA NID'YIA NIV NIYPAD 'NY B(z,y) , A(z,y) I'N' :3.1 09WN
NNIWNN 'TXY .(DANWNDN Y 'S

dy
A(ma y) + B(“’? y)%

LA, = B, DX 01 DX NP'ITN

L0110 MY Dy Tiayd TN :NNdIN
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Y T5 F(a;,y) PNPNS PP NATINN 29 9y N PN DNNYND ON 1 D
F, = A(m,y), Fy = B(may)

19N
A,=F,, =F,, =B,

VN MDD DY MNINN Yan F,, = F, YYnwn

22 e F(w,y) MNPNO AV Yp NN LA, = B, YNV DPPNNY N2 2 2D
(1) F, = A(:B, y)’ (2) Fy = B(m? y)

9 (1) yynvn
F(z,y) = /A(w,y) dx + h(y)
M (2) Yy
Fy(zy) = 5 [/A(w,y) dz + h(y)
= [A@yde+ 1)

= B(way)
DYDY . A(z,y) DV NYPONN MINN MONT HDX2 NPIVANR DNVYPRN P00 NNNN NPHN
PPN h(y) MNPND NINNDD 1POY

h'(y) = B(z,y) — /Ay(w,y) dz

Y~ IDNN TPNPN NN ONNPY PRY NN PINKD )PNIYN DY INMYNND MIVYY N»yan
PN PIPNONY MO .z~2 D) IMONY NPIPND PNV MIANYN P> PINIY Tiya 7203
NOANRND x 292 NN 2D =2 MON NN PO

o
— [B(m,y) — /Aydm] =B, —A,=0
ozx

i DPOYTR ANNYRNY M DR ,N0»P h(y) TP8PNSoN 19D

JDPTH RNWNN OX F(z,y) 2N NOWN IR INNN 0) VavNN NNON O

NNIVNN D PO 8 NNAIT @
(ycosx + 2xe?) + (sinx + z%e¥ +2)y’' =0

259510 NNIND NN RN NPNTH
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1w NONTD INNS
A(xz,y) = ycosx + 2xe¥, B(z,y)=sinx + x%e¥ + 2

1o

A, =cosx + 2xe¥, B, =cosx 4 2xe’

JPTH INNYNN ,0avNN 29 DY 195 A, = B, D MODP
F(x,y) DN 2vM

Fa,y) = /A(a:,y) da
= /(ysin:c—|—ar:2ey)d:13

= ysinz + x%e?Y + h(y)

h(y) DX 2WVND INWY)
F, =sinz + z?e¥ + h/(y) = B(z,y) = sinz + z%e? + 2

09951 PN 5533 NI NI INNRND YINI XD WIAPN) h(y) = 2y 190 ,k/(y) = 2 127
DNNYND 259510 PNINSN NN 100 1OP

ysinz + x%e¥ + 2y = C

MYV MNP DAR ,0VIOP IRIID R INNVNN y(xz) NIAY ¥NN PIND YOND 0”D0N
,Matlab 122) MNTPNN NPVNVNYD MIDIN MYNNINI OVIVIPYD DN DNOY 2V NI NPIN
(Python/Sympy N ,Mathematica

XNYNN OX 172 3.5 7N @
(2z® — 5y*)y’ = —3x2? + 1

20000 NNINS NN RN 0 ON) ,NPNTH
NI 000N PINON DNPNATH IRNYHNN INND

2y’ +x—y>=C

NPT NINIYD 11aV N'S1203'N 'D112 e

N0 OVIY .MPATRN MRNYNND NNOYND 2000 PNINSD TN ToNN MY 0Tpn 2Ova O
NN NN IV MNXNYNN NNAYN NX NN XTI MNTPNN DV NN TONN yNad
T
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(Python/Sympy tools) [—10,10] YOPA ysinz + z2e¥ + 2y = C 7¥ D"7001X D'IP :3.3 WI'N

NNNN MXNYHNN I D90 7772 O
dy
A(z,y) + B(way)% =0

INDAON MYNNNI MPATHD JMIN TIOND N2 ORN NYATIV MONRYA .,MPOTH 1PN
230WHO DINA

NRNYNNY T2 p(z,y) MYPNS NIND DO PyIn O

1w, 9) Aw,9) + 1o, 9) B, y) 1o = 0

DNNVNN DY AIS901R D913 NINIPY N D 7PNPNS NNYPY NN NPT NN
OV DYONONITIOTN

PNV NN OPPO 27N PNDLVIN DI O
(,UA)y = (HB)w
22y 199NN D95 NOYaN INND
pyA+ pA, = p.B+ puB,

N2PY NN N
(3.6) (Apy — Bpa) + (Ay — Bo)p =0
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,(NONRD MNXNYN DY TI9) DNP V1) MIPON MINRININNT ARNYN NN ININKD IXNWNN O
MY P NMNX NNAD 91 120 .NPNRN AXNYNIN NINSD IYP INY 55D 77171 NNV
DTNYN DIPN

N, DONVNN TAND P ON p(x,y) PIPNON IUNRD DN NIND O TNYH OIpN Y O
NONTA NPYT DNN) AN .0DND IPONONINDT INNVND NPND TIONN (3.6) NNV
DNWN NV MON p NAY DOV

XYVNN 9 NnAlIT O
(3.7) (y® + 62%y) + (yxInx — 2zy)y’ = 0
D NPATN INNIVYND NPN
A, =2y+6z, B,=y(lnx+1)—2y

TPNDVIND DINA INNYNN DX 2293) OX . A, # B, D PVIDNY NI

1
n(z,y) = —
xy

NPYTH NXNYN 2P)
(y + 6:13) +(Inx—2)y =0
T

nNINaY
F(z,y) = / (% + 6:1:) dr = ylnz + 3z? + h(y)

F, = Inzx+h'(y) =lnx—2
NN OO0ON PNINON Lh(y) = —2y 19N
ylnz + 322 4+2y =C

YMON PINS YOND 1N 1AV PTY NP I

C — 3x2

y(@) = 2+ Inx

MNYNI NYN p IYRD DN MPXDVIN DN XINNDD NYP RO 0NV DOV INYH DIpnn @
W p = p(x) ON SVND Ty

(nA)y = pAy
(uB)y = pB,+ Bp'(x)

YA IS NVOIPN 0 NAY VAT (pA), = (uB), PIVIN 199N

pAy, = puB, + By (x)
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INNYNN DX NODP
W) Ay— B,

pu(xz) B
MINM NN 17291 272 0N > AP i XN YR p(z) TV T35 NN
D05 5o 07PN

A, - B,
g9(x) = ——4
, NNNYNN OV NINIM
45—

N0

Ay—Bg
—p

p(x) = el 9@ de — el

TPNDOPN DM NINND MOIY VAR (720 NMIAY M0 NN»P) DPPNN RI ONIND ONX
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Orthogonal families: x2 + 2y? = C and y =Cx?
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Orthogonal families: (x —k)2+y2=k? and Xx*+y?-%£=0
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y(x) = 1—|—:c—|—sin§—|—clcosm—|—czsina:

<]
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a'nTpRn NNIYN NO'Y EEx

NI, DA DNTPN 0P NPINMIN-ND MINNYND N2Y 209 PINS OV vinw 1anon O
DYDYV DIPNI INY VIV
nn
Lyl = y™ + ap_ 1y + -+ - + a1y’ + aoy = q(x)
2D Lg(x) DD RNNN 20N PINSN DV YINDN NN DX NPNN ORI NO20N
LDIRNNN ONTPNRN NN NINND NPINMN-NON INNIYND y,(xz) NN DNND W

q(x) Yp()

1| Ao+ A1z + Agx?2 +--- + A ™ x*(Bo + Bix + Bax? + - - - + B,,x™)

2| (Ao + Ay + Agx? + -+ + Apx™)e®® | zF(By 4+ Bix 4+ Boa? + - - - + Bpa™)e®

31 (Aog+ Az + -+ Apz™)e*® cos Bx a:k[(Bo + Bix + -+ + Bpx™)e** cos Bx

+(Co + Biz + - - - + Cp,x™)e** sin Bz|

4| (Ag+ A1z + -+ Apxz™)e*® sin Bz xk [(Bo + Bix + - -+ + Bp,x™)e** cos Bz

+(Co + C1z + - -+ + Cpyx™)e™* sin fz]

‘079N |[NN9N 7Y WINn MY 4.1 0210

B WMAPM ,e™® DI NN o VIAPN ./ ,a DIAP M DR NY2V2 "MW D20 8
.sin Bz W cos Bz DIND NN

3 N7V OO0 NIPN NYYNI NN L NIV P L, 8 =0 ,a=0 ,020N S¥ 1 N7wa O
AL DMV OX DAPY 3 NTWA B =0 ,a =0 2°¥) DN)

(A)

3 0TV DV o090 NAPN NYYND NN 2 NI 10D, 8 =0 ,NDa0N DY 2 NTva

21259 NN MNN DY MDON SN ,MNYNRIN MNVYN PNV DX ND20NN PN VAR 1P O
1IN

tk nyapy buon O
.1 OV OTORD NN NN kI PIIND DN DY YW NN r = a + Bi DN
k=0 NINN

ya =0 1N NNV D NOD W IN,1 NIV DVNNYN DX DAN 4,3 MMV vnnvnd 18y 8
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NIk INOOND OO OV YNV RN 7=0 OX DD .r=0+0i =0 1O ,8=0
k=0 NINN OV M2IONND NN

1991 ,8 =0 1% NMNYA D NOW W IN 2 NI DOVNNYN DN O
r=a+0 =«

DIANK IOV MI2ORND NN NN kTR IVNIND DN DV YNV NIN r = a DX 2D
k=0

DNXNYNN DY Y000 PINS Ny 20 NNAIT @
y// _|_ y = wz

241 = 0 ONIND DN Y YNVIPN 7 = 0 D,k = 0 > NI Mt NIPNA [INND
N IND D797 PNINON NN DY

yp(z) = Az®> + Bx + C
YPN PIMN-RON INNWNA 3, () NANN
y, () + yp(x) = Axz?® 4+ Bz + (C + 2A)

PN

=)

TINMIN-ROND NINNIWYND MY NIN 20990 PINSN NN 1Jbl’|71
yp(w) =x* -2

INAND MYNHINRI TPINMIN-RON ARNYND DV 2079 PINS PR IMY 71720 Yoo
1O OX NI TPINMIN-RON ARNYNN DV 25950 PINSN .ANNYNI

y(x) =x®* — 2+ cycosx + cysinx
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DNNVNN OV Y000 PINS KN 21 NNAIT O

NVW RN r=a+Bi=1 .=0,a=1 12200 5V 3 N7V2 vHNW) :|INND
N> 20790 PNINSN NNN N220N 29 DY 10D , 72 — 1 = 0 IVNINN DN

yp() = Aze”
JDIMINND DRNYNND DY NPINS NI y = €71 INND

y,(x) = Ae”+ Aze” = A(xz + 1)e”
yi@) = Ale+2)er
y, () —yp(z) = 2Ae” =e€”

NI 209N PINSN PN, A = 2 DD

1

x) = —xe”

yp( ) 5

NIy’ —y =0 NN DRNYNN DV 15950 NININ
y(x) = c1e” + cae™®
NI DPNIMIN-NON AXNWND DV 15500 NINSN 00
1
y(x) = ia:e”“' + ci1e” + cpe™”
DNNYND 4000 PNINS Ky 22 NNAIT @

y" —4y =x +3cosx + e

DV Y900 PIN9A DXNNND NN IMNMIN-NON NXNYND P09 PINS WNID >TO1 :|INND

MDD ANRNYNIN
yl/l _ 4yl — O

NI OD00N PNINON O ,r = 0,—2,2 ON 73 — 4r = 0 PI9INN DI MWW
y(x) = c1x + coe™* + cze*

NINAD NYININ-NON MNXNYND DYDY T2y DP9 MININD VNI NN 2aDwa

(1) y/l/ _ 4yl —
(2) y" — 4y’ = 3cosx
(3) y/l/ _ 4y/ — 6—2:1:


https://samyzaf.com

134 NIMIMNIN X7 NINIWND 4.8

:1 ANNYYN
NN 20 =10 k=1 DNNPO ¥ NONN NIPNI .1 NV NN NDAVA MPRNND NNV
NID WINDN 1D .IIMNMINND IXNYNN DY NIND

yp(z) = ' (Az + B) = Az? + Bz

(1) NNNMWYNI 2N)
y,(x) =2Az + B
y,(x) =2A

Yy, () =0

y, (x) — 4y (z) = —8Azr —4B ==
) WM ,B=0,A=—; 20
2
x)=——x
ypl( ) 8

22 ANNYN
T IANND (B =1 ,a=0)3 NNV NN NIV NPRNNND NNYN

r=a+pit=1
N1 20990 PINSN 1NN ]Db1 k=0 DNPo W pIaIND DI19N YV YNV IPN
Yp(x) = Acosxz + Bsinx

(2) NNNWNIA N

y,(x) = —Asinz + Bcosz
y,(z) = —Acosz — Bsinz

y,(x) = Asinz — Bcoszx

y, () — 4y, (z) = 5Asinz — 5B cosz = 3cosx

WM ,B=—-} ,A=0120

Yp, () = —: sin x
33 NNV
NNX P Lk = 1 NI Oy MMWAND DIPION DY VNIV NI r = —2 M NIPNIA
N 2VI90 PINAN

yp(x) = Aze ™
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(3) NNNWNI 208
y,(z) = Ae™ — 2Aze ™ = A(1 — 2z)e” >
Y (x) = —2Ae™? —2A(1 — 2z)e > = A(—4 + 4x)e >
y)'(x) = 4Ae™® — 2A(—4 + 4x)e ** = A(12 — 8z)e™ ™"

yy'(x) — 4y, (z) = 8Ae ™ = e **

MW A= —1 12D
1

Yps (ZL‘) = _ge—2:c

TPINMIN-NIN ANNYNA NAY PINSN PPNINDN NIPPY THO Sy

2x

y" — 4y’ =x+ 3cosx + e~

N0
Up(x) = Yp, (T) + Yp, () + Yps (@)
1, 3. 1,
= ——x° — —sinx — —e
8 5 8
NI D200 PNINAN 1O
1 3 1
y(x) = —ng = sinxz — ge_% + 1z + cae 2 4 cze?®

DNNYND 2555 PNINS NN 23 NNAIT
y(4) _ y/// _ y// + y/ — rsine
TPINMINN NRNYNN DV 2550 NINON NN'NNA 2>NNY :INND

y W —y” -y +y =0
MIMAIN DI
rf—r3—r24pr = P(r—1)—r(r—-1)
(r* =) 1)

r(r?> —1)(r — 1)

= r(r—1)2%(r+1)
r=0,-1,1,1 VNV
205 NINS

y(x) = c1 + coe ™ + cze” + cyxe”

B =1 ,a =0 P2 ,q(x) = zsinz MOV NIPNA .N2A0VN OV 4 NNV VHNW)
192 L,k =0 NNPO W PMNRND DIPNN DY YNIVIPR 7 =3V INRD .r=a+ Bi =1
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NI DPNIMIN-NON AXNYNN NAY 2090 PNINSN NN ND2VA 4 NN 29 DY
Yp(x) = (Az 4+ B)cosxz + (Cxz + D)sinx

Yp(x) OV MNYNIN MIIN NYAIN NN 2VND W

y,(x) = Acosz — (Az + B)sinz + Csinz + (Cz + D) cosz

= (A+ D+ Czx)cosx+ (C — B — Ax)sinx

y,(x) = Ccosz —(A+ D+ Czx)sinz — Asinz + (C — B — Az)cosz

= (2C — B — Ax)cosz — (2A+ D + Cz)sinx

Y, (z) = —Acosz— (2C — B — Az)sinz — Csinz — (2A+ D + Cx)cosz

= —(BA+4+ D+ Czx)cosx — (3C — B — Ax)sinx

y1(74)(:c) = —Ccosz+ (3A+ D+ Czx)sinx + Asinx — (3C — B — Ax)cosx

= (Arx+ B —4C)cosz + (Cx + 4A + D)sinx

22PN TINMN-RON INNVYNI y,(z) NN DX

n

Yo — Y Yy Ty, =
(34 —6C + D)cosx + (2A + 2C)x cosx

4+ (6A — 2B 4+ 4C + 2D)sinx + (—2A + 2C)zsinx

= xsinx
DIOY) NYAINI MNNYN YAIN DY IPIND NN DaAP)d
4A+2B —-6C +2D =0
2A+2C =0
6A—2B+4C +2D =0
—2A+2C =1
NN NNINVY
1 1 1 3
A:—*, B:*, C:f’ D:—
4 2 4 4
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1o
yp(x) = (Ax+ B)cosz + (Cx + D)sinz

T n 1 n T n 3\ .
= |—— 4+ = |cosx — 4+ —|sinx
4 2 4 4
TPINMIN-NON IRNYNID 15950 PNINAN
y(4) _ y/// _ y// + y/ — rsinz
N0
z 1 x 3\ . _
y(x) = _Z+§ cosx + Z—I—Z sinx + ¢; + coe™ + c3e” + cyxe”

DINNYNN OV NINS NN y,(x) "V MOPA NNNRD 1N 1A ONIONY (NND'AN NS 8
:(Python) SymPy N)2IN2 ViYW MYNNNI NPINMIN-NON

http://live.sympy.org

(MNIYD NTYIN qON 0T I NN IO MY 1T NPPTa NINK)
from sympy import *
x = Symbol("x")

yp = (-x/4 + 1/2)*cos(x) + (x/4 + 3/4)*sin(x)

ypl = diff(yp, x)

yp2 = diff(ypl, x)
yp3 = diff(yp2, x)
yp4 = diff(yp3, x)

simplify(yp4 - yp3 - yp2 + ypl)
(SymPy 1oN2 Tpn NN 92T P nynd W)

DNNYND 29090 PINS N8N 4.6 22N O
y(4) _ y/// _ y// 4 y/ — e*

y(x) = %em + c1 + c2e™® 4 c3e” + caxe® IN'OI0 NN

Q"UVP9N DY NINNMIN NU'Y Y

TPNNIN NV .DWNIAP ONTPHN DY NPINOYD NPONONIIDT MNNYNI NPDY Py Ty O
DINYN DNTPN MDY NYINMIN-ND NPINYD MRNYN NIND NTYN OIVNI9N DV

Y™ 4 pp_1(2)y™ Y + oo 4 pi(2)y + po(x)y = q(x)
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TPINMINN NRNYNN DV 25500 PNINSN D NIT TWUND
Y™ + pp_a()y™ " + -+ pi(2)y + po(x)y = 0
TINMINN ARNYNN DV 25000 PINN WO T D ) O
y(x) = c1yi(x) + caya(x) + - - - + cpYn(x)

NVPINMN-RON ARNYND P09 NING OPP D NN DIVNIIN DY PINNN NOY O

N INNNY
Yp(x) = cr(x)ys(x) + ca(@)y2(x) + -+ - + co(@)yn(x)

OV NV I INOM) MDID IPOYY NVNPND 1 D cu(xz) ... ,ca(xz) ,ci(z) IYNRD

(DINYN ONTPNS DI ¢, ... ,c1 DIVNION NOXWVN

Y ITON NRNYN MYNNNI NOWN NN 0T O
Lly]l = y" + p1(2)y’ + po(z)y = q(=)
PRINN ARNYNN NAY y(z) = ey (x) + coyz(z) 2990 NIND DT WY M)
Lly] = y" + p1(x)y’ + po(x)y = 0
NMNNN YD PINS WaN)
Yp(z) = c1(z)y1(z) + c2(z)y2(x)
N y,(z) OV NN @
y,(x) = i (x)y1(z) + c1(2)y) () + c5(T)y2(T) + c2(x)y,(x)
Q0N NN NADIN NIWOINNY cy(xz) ,cr(x) NPNAL NNTY WoN MHIT NP @
c1(@)yi(z) + cy(z)y2(x) =0

DWYIY 501 1PN
Y,(x) = c1(w)y (x) + ca(T)y, ()

N y,(z) OV VD NN @

Y, () = ¢y (@)Y, () + & (2)y,(x) + cr(2)yy (z) + c2(x)y; (2)


https://samyzaf.com

139 n > 1 2TON NIMNY'? NIMZR'YINDT NINIWN 4 PO

PN NON INNWNI ¢ Ly, Y, TR DY) O

y, + pi(x)y, + po(z)yp
= (cly; + ey, + ayl + c2y;) + pi(cry; + c2y5) + polcrys + c2y2)
= c1(yy + P1y; + Poy1) + c2(y3 + Pry; + Poy2) + 1y + Ly,
=c1-0+4c2- 0+ cly; + chy,

— / / / /
= 1Y + CY,

= q(x)
INAD NOIYNN DX DO 010D @
¢y (@)y1(x) + e (z)y2(z) = 0
{C'l(w)yi(fv) + cy (@)Y, (x) = q(=)
NPINYD MXNYN NIIYN NIND NP 993’9 Dy
0 y2(x)
¢ (@) = (@) 4:(@)| _ —ya(x)q(x)
yi(z) ya(z) W(z)
UACIIETACY)
yi(z) 0
o (@) = @) 9@ yi(z)q(x)
yi(z)  ya(z) W (=)

yi(®)  yy(e)

ey () ¢ (z) MIMIN WNY MLV MNNDN NODP

o (@)
/(@) W (z)
(o y1(x)q(x)
e (@) W (x)

.ca(x) ,eq(x) NN PN DOV TPN¥DOIN 1IN O
9PN 3 ATON MNNYA MAY D) MYAPNN MMT MNNDH O

PNIY ANKRD MNINAN OV OYPN OIND DY NYaYn DIV PR W(z) PO pond 8
DANNN 1PN INPONNN 1O TINYD 7ON 'Noa NP NN {yi(x), y2(x)} 2D 15
(a, B) NENVNN DV DYPN DINNA
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DRNYNN OV 2000 PNINS RN 24 nNAIT O
” . ™
y' +y=tanwz, (0<:1:<5)

ANNYNN NN NNAY 11 KD DR IRNYNN M TPNRY MIND 2 181 95 YN [INND
y” + TPMNN DRNYNN SV 25950 PNINON , N .DNTPHRN DRNYD NOYW MYSNNI
NNy =0

y(x) = cycosx + casinx
N TPIMIN-NON NNNYNN NAY 209N NINSN NIMNN ]351
Yp(z) = c1(x) cosx + ca2(x) sinx
NOIYHN DX NN W
cosz - cj(x)+sinz-cy(x) =0
{— sinx - ¢} (z) + cosx - cy(z) = tanx

DNYINYD MNXNYHD NIIYND NIND NP 9552 wNnv)

0 sin x
tanx cosx —sinx -tanx
c(x) = = = —sinx - tanx
cosx sin x 1
—sinx cosx
Ccos T 0
—sinx tanx cosx - -tanx
cy(x) = = =sinx
Ccos T sin x 1
—sinx cosx
TPNMOYN YNAD TNN W ¢y (x) NN DAPY >TI2 .cy(x) = —cosx D N2

. sin®
c(x) = —sinz - tanz dx = — dx
cos T
cos?x — 1 1
= —dx = cosx — dx
cos T cos T

cos . cos x dx
dw:SIHw— T . 2
cos? 1 —sin“x
. 1 1+4sinz
= sine——In—m—
2

= sinx —

1—sinx
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95
. 1 1+4sinz .
Yp(x) = |[sinz — —In—+— | cosx —cosx-sinx
2 1-sinx
1 1+ sinx

= ——coszx:In -
2 1 —sinx

NI DIMIN-NXON IRNYNN DV 20550 NINON 19N

1-+sinx .
y() = ——cosx-ln — + ¢y cosx + casinx
2 —sinx

NNNVYNN OV PINS NN y,(x) "W MOPA NNND 1) 1»aY ©MONY :NND'NN NS 8
:(Python) SymPy NM)2IN2 ViYW MYNNNI NINMIN-NON

http://live.sympy.org
(MNIYD NTYIM Q0N 1T AT NI IND MIYY 1T NPPTA NINKN)
from sympy import *

x = Symbol("x")
yp = -0.5%cos(x) * 1ln((1+sin(x))/(1-sin(x)))

ypl = diff(yp, x)
yp2

simplify(yp + yp2)

diff(ypl, x)

SymPy SV )oN2 TpN NX 227N P nynd W

-ND TPINYD FPONINITIDT ANNYN NAY d0ID PINS NINND D01 PYTI 9NN NI O
3 97010 N

y" + p2(x)y” + p1(x)y + po(x)y = q(x)
TPMINN NRNYNN DV 25000 NINSN DN
y" 4+ p2(x)y” + p1(x)y’ + po(x)y =0

N VT
y(x) = cryi(x) + cay2(x) + cays(x)

PN TPINMIN-RON ARNYND NAY 2090 PINAN DY NINN NNN TN

Yp(x) = c1(z)y1(x) + c2(x)y2(x) + cs(z)ys(x)
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NOIYNN DX D3P DINIPN IV NADIM N INND
ci(®)y1(z) + cy(z)ya2(z) + c5(z)ys(xz) =0
i (@)Y (x) + ey (@)Y, () + ch(z)ys(x) =0
¢y (@)yy (z) + &y (w)yy (%) + c3(x)yy (z) = q(=)
h(x) ,ch(x) () MY NPNNND MNNDN J3P) IIP OV 5551 vy MyNHNHNI)
NI () MNAY NNONN ,NONTD

0  ya(x) ys(z)
0 yy(z) wyi(x)

@) @) B@)| @@ - u@)]
W ()

ci(z) =
yi(z) y2(x) ys(x)

yi(z) yy(x) yi(x)

yi(z) yy(z) y;(x)
DNNYND 9000 PINS N¥N 4.7 2N O

TO NTNN T OY ON ONTPNN NXNYN NOXY >T DY N»Yan NN NNAY 1N 01T
DV NN XY NN DXTIND 272 D)INN NN MNSD NN 952 Yonm (v = y') NOWVI
NN DAPNND TINY 290N PN .DIVNINN

xz? B
y(z) = — teit e +cge’

DRNWND 000 PINS Ky 4.8 2'aaNn O
y"' — 4y + 5y = e**sin’x
N 90N N2IVNN 0T

2
y(x) = 29sin®*x — 15sin 2z + 31—262”” cos’x 4+ c; + coe™®

(Leonhard Euler 1707-1783) 12N NNIWD [PEE

493X IRNWN NN MIVITN NPINOYIN MNNIYHA NN O
anz"y™ + an_12" 'y Y 4o fagy = gq(x), (0<x < o)

(D001, 01N 0NN NPVLIMIVPIN) D90 NNNYN PNINS NAY NIVN DN IRNYD 8
JPA0NT NPIOND MTNPID NOVIVE NONT NNVPN 2APY NPTINN M2VYN 0) 1D W DN
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(PYT992299 NIWIP) NPT NPITNID MTIP)

NaNnn @

x = e, t=Inxz 0<z < o0)

oYy NN ONOTY .0V DNTPN NOYaA MINYD IRNYND IONIN INNYHN DX NO9N
3 ITON NNNYN

po_ dy _dy , db _ dy 1
Y T dx T dt de ~  dt x
— 1 dy
oz dt
mo o d 1 dy|l _ _ 1 dy_ 1  d%
Yy T dzx [:1: dt} - 2  dt + 2 dt?
_ L[diy_@}
T x2 | dt? dt
mo 1 [dy _ qdy? dy
Yy -z [dt3 3dt2 + 2dt

DINNYN 92PN NoVAN 8 MPINN DOW NN ,ADIN NINNYNA NON MINNIN NAND INND
OYAP ONTPN NOya ,y(t) P8PNNT NINOYD
NNAN DPNOVINNRD NNDNN NN NPV NN PNPITYIR MYNNINI N0 D) O
o e P [
dx™ x™ dt \dt dt dt

2= —et NN DA —co< <0 ONN1 @

INAN AN IRNYHD NAY 000 PINS XY 25 NNAIT O
x2y” — 2zy’ + 2y = 2® (0 <z < 00)
x = el NIANNN MYNNNIA ¢ NINYND NAY)Y :|INND
2y — 2zy’ + 2y = wz-i[%—%} —2w-%-%—|—2y(t)
= W 3% | 2y(t)

t ,y DOHNYNI NYTN INNYN NODP
y'(t) — 3y’ () + 2y(t) = e*
DNTPNN NRNYN NOWY T DY NND N0 12OV
1 3t t 2t
y(t) = 56 4+ cie’ + cse
22PN ,y = y(x) OPNPNRN OINVND NN

1
y(x) = Ea:?’ + ¢ + cox?


https://en.wikipedia.org/wiki/Regular_singular_point
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192,y = " NN THRN ON TPIMNN IDIN NIRNYN DY OPTIDN MNININY KXY O
DPTIDN MNINN NN MPY WANI NION ,z = et NANNI 2W YNNI KD TN INYN
N1 y =" NANN T DY

Lly] = anz"y"™ + an_1z™ 'y + .- 4 agy =0
MHNNY
L[z"] = 2" P(r)
.m NOYNN VNN OIS P(r) IUND
2 9TON AN DNXNVHN MY Ovnd @

,y/ — ,r,wr—l

"= r(r—1)z"?

199

Liy] = ax2*y" + a1zy’ + aoy
axx’®r(r — 1)z" 2 + ayzre™ ' + apx”
axr(r — 1)x" + a;rx” + apx”
x"[azr(r — 1) 4+ a17 + ag]

= 0

n = 2 IYNOV NODP
P(r)=azr(r—1)4+air +ao=0

TI9IN INNYA TV NN ARNWNN IN TINISTIND ANNYNN NP PINKD )PIvHD O
JPINMNN

PN DPONONTYRD ANXNYVNN L, 3 ITON NDINMIN IRNYND DY NIpna @
P(r)=azr(r —1)(r —2) 4+ axr(r—1) +air +ao=0
DMV DPYNN DOV n Vv P(r) DN TIND DIP9Y O O
T1, T2y eeey Ty
7T NIMIND IRNYNN DY MNINN 2NIND DDA N

T1 T2 Tn
xr -, xr“, ceey Zr
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D”DN PN MININD k 10 MR IN Lk 2I2ION N7 Dy umn vV XN » O @

", x"lnz, z'(Inz)?, ..., z"(Inz)*?

MNINS 2 OND MR N, P(r) DV DOVIVI AN DVNWIW ON r=a+ Bi OXN O
D»”MYN *'nba

x“ cos(BInx), x® sin(fB In x)

YIR N Lk 2I2OK N 0OYa P(r) OV DANM DOVIW DY ON r = a+ Bi O O
D”ON >No3 MNINS 2k ONY

x“cos(flnx), x® sin(B In x)

z“Inx cos(B Inx), z* Inxsin(B In x)
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from sympy import *
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TN TNX |JNNS D" N2 WX ¢, NTIPN 2'A0 (e, 4) N2A'AD NN"P "N
N7NNNN 'RAN NIX D21 NINIYWAN MDA DX DR (21(2), 2(t), . . . , . (2))

Y099 NIAPN NIN 1 ITON MO NPONONITT MNNYN NAY MT A DPPH VIYN NIYN
9”0 vavnn YV (n=1)
NN NONNN ONIN DY 1 TN NMNMIIN-RY HANIY MIRNYVN NYN SV NONINN NN

i (t) = pu@®)zi(t) + pr2(®)x2(t) + -+ - + P1n(t)zn(t) + q1(t) z1(to) = oy
x5(t) = par(t)xi(t) + p22(t)x2(t) + -+ - + P2n(t)Tn(t) + q2(t) x2(to) = a2
m;(t) = Pn1 (t)wl(t) + Pn2 (t):liz(t) + -t pnn(t)wn(t) + Qn(t) mn(tO) = Qn

NoOMY to NTIPIN , (cr, B) NN YOP YN MPXN MIATIND ¢;(t) ,pi; () NVIPNON 9D UKD
HANYY NIYN OV TPONI NNY DOIAPN IN MOINNND ¢;(t) NPIPNON 95 DN .Yyopd

§7.1
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DM
i (t) = pu@®)zi(t) +pr2(t)x2(t) + -+ - + Pin(t)Tn(t) x1(to) = oy
x5(t) = par(t)xi(t) + p22(t)x2(t) + - - - + Pan(t)Tn(t) x2(to) = a2
w;(t) = DPn1 (t)wl(t) + Pn2 (t):l)2(t) + e+ pnn(t)wn(t) wn(tO) = Qn

1 2TOD NINIYD DY NIMNI'D NIDYD 1Ay DT nanl arpn VoYn Ak

22100 (e, 8) NIND YOP 2UN NID'X NNTAM g;(£) , ps; (£) NIXPAIDN 7 DX :7.2 DOWN
TN TAX [NND D'P X, NTIPIN NN 1DINA

x1(t), x2(t), ..., xo(t)

N7NNNN 'XIN 7D NX D"PNL, (e, 8) NTANN DINN 722 NDYYNN NN D'PRN

MPHM DYPN NPINYD MOIYNIA D000 MTHM DYPN VAYND TNV IO 1D VI W
DINN-NN DY R NITHNN OINN 73 DY NV NINAN DV

1122 1TOD NINIYD SY NioNvn EEE

1 9700 NPONONITIDT MIIYNI 190N ,MI’IT NPONINITPT MNNYNL 1D KOV 2D PN
NOIYND MOPA NN I NP M ITON MXNYND NIIYN D) INKRN 100D PPaDN NN
NN 2 9TON NOIYNN DX ,OUND .NNNT MYSNNIA )PYIN DX P20 .1 7TON
o (t) = x1(t) + 222(t) — 32 (¢) + 4x},(1)
xy(t) = bxi(t) — 6x2(t) + 7! (t) + 8xi(t)
NV NADIWN |, 24(E) ,z3(2) OO NVPEPN PNV NADIN >T> DY 1 7TON NIIYND TIOND 501
NAD J19IN2 MNNYN
zi(t) = x3(t)
zo(t) = wa(t)
x5(t) = x1(t) + 2x2(t) — 3x3(t) + 4x4(t)

x(t) = 5x1(t) — 6x2(t) + Tx3(t) + 8x4(t)

DMPA VONNA PN PTIN NI 1 ATON NPONOKINPT MOIYNA TPMnNn 290N 10D
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JPONONIDT MINNYND NIAN

11239 PN TPONONITIDT ARNVYN DV NINN YN ,0TPpN TON2 vidvw > Dy 7.1 2'a1N
n 77ON

Y™ + 1)y ") + -+ + po(t)y = q(z)

.1 970N X i DIAIND MINNIYN NOIVYND

MI0PI QWM

oV MOIYN MPNY Y TPAINYON NI2IONRD OINNND DIRND DVIVNI VIY T DY
DIV PNNY TPINYON NIORNND DD MYNNNI NPINDD NPININIIDT MNNYN
TPNIIN-ND TPIND NIIYN DY XNV

)] [ pe® o pe®][ao]  [ao]
x5(t) _ P21(t) pa2(t) -+ pan(t)| |z2(t) N q2(t)
_m;(t)_ _pnl (t) pn2(t) et pnn(t)_ _mn(t)_ _qn(t)_
MMNMOPI NN D) vVNNY)
21 (t)| ai(t) pu(t) pia) o pia()]
xa(t 2(t 21 (¢ 22(t) -+ Da2n(l
F(t) = ‘(), (T(t):q()’ P(t):p() p22(t) P2n(t)
_wn(t)_ _qn (t)_ _pnl (t) Pn2 (t) ctc pnn(t)_

N2NNNN NIN NN 0) TTIPY 50N

.’Dl(to) aq
:E2(t0) (8%}
_mn(to)_ O |
YNOPIN PPNYN > Oy

NAN DPNOPIN NIIYND NNNNVNY VOV NIIYNN 129

§7.1.3
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T'(t) = P()Z(t) + q(t)

NISIDOND NO'W T DY NINYD'YD NDVD [INND

NVPXPNAN IRY T DY MNOYIN NVIPNONN NNN DX NVIAD MO W PNPIOND DOV
DVTAD MYY NPHIN ATOY NN I NV DOV ORND NYMN .NIIWNN NN POPND Td 2T O

NNAN XONTN 2T DY DOV PIND NOOY N
Zi(t) = @1(t) + za(t)
x,(t) = 4x,1(t) — 2x2(1)
O 2o (t) = 2y (t) — z1(t) 7D YN NNYRIN INNYNIN
@y (t) = @] (t) — / (t)
DIRNNN DNV NIVD IRNYND x4, (t) DN z2(t) DX PO
zy(t) — @) (t) = 41 (t) — 2[a) () — 1 (8)]
2 TON AND 1D TPONINIINT NNV NODP
2 (t) + & (t) — 621(t) = 0
PN r=—-3,2 0N 72+ 7 — 67 = 0 PIINN DIV DY DVNVYN
x1(t) = cre 3 + cpe*

za(t) = @ (b) — a1 (t)

3t

= —3cie 3 4 2¢ce? — cie7 3t — che?t

= —4c e ¥ 4 cpe?

TPNOP NN MNIND Y DV INYD MPND NIIYNN DV 000N PNINON NR DIVID Dpn

x4 (t) e~ 3t e2t
=c + C2
x2(t) —4e~ 3 e?
PNING MOLIYY TPONIXITDT MNNYN OV MOIYN P2 VAR WP DY NMNIN 1N DIWIN NNN
JPANON NO2OND OINDN

§7.1.4
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DWIAP DTN DY MIIMIN NN NN L

T2 TR VAP DNTPN DY PN DPIND MNNYN NOIYN DY NOION NNNN

i (t) = anzi(t) + apx2(t) + -+ + a1z, (t)

xo(t) = a2x1(t) + azexa(t) + -+ + azpx,(t)

(1) = anzi(t) + anzx2(t) + -+« + anna(t)

NI NOIYNN DV PMOPIN MISNN .DPYNN OWAP 0N a;; IYND

iL'/l (t) aii a2 LI ain wl(t)
58,2 (t) B a1 a929 L [0 5579 Lo (t)
x! (t) Ap1 Apa  *** Qpp| |Ta(t)

A OT DY DMNTPND NNIVN NN DI

ay; Q2 -+ Qin

a1 Q22 -°°° Q2p
A=

An1 Ap2 ¢ Apn

YT DY NOY NOIWNN DN INMD HON) N

7 (t) = AZ
@(t) IPSPND n HY NOP)

x1(t)

To(t

@(t) = 2(?)

(1)

D”PR NIN ON NIIWNA YY PINS NIP)

@'(t) = Ad(t)
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AR NN DWAP DMTPN NOYa NOIYN OV DPPN OINN) >wNn ¢ D35
NINS NI O),MNIND 2V DD DY NN 418N > NP1 XAN VIVNI

N2IVUNN 7Y NIRINND W DN (t) ,@(t) DX :7.3 DOWN

7 (t) = AZ

JIDVUNN 7Y INND XN ¢ @ + e INY'7N YN D) TN

JYM NN NP MIYY DPNPND DIVIIN NN DT VIAYH NN D PN NDIN
Oy OONNDN MO VX N2 MOPA DT NON NMNIYVL NPOIND N NIVANRD NPNVPY MISD
TPANIHN NIONNN DININDN DXVIVN

A(C1T + €20) = 1 ATl + AT = 1@ (t) + ¥ (t) = jt[cla(t) + ¢ ¥ (t)]
“Y 00 2OP
Ccllt[cl&'(t) 4 c29(t)] = A(c1td + coi)
[ | J0YNN OV PIND NN D) 1@ + ca@ 2INYIN NPNN 1O
SUND NNTIPN NINTA
zi(t) = xi(t) + z2(t)
x,(t) = 4dx,(t) — 2z2(2)

TPMNMOPY NN NOIWYNN NN DWW 9ON)

xit) 1 1 ||xi(t)
x,(t) - 4 —2||xzx(t)
P20 PNIND NN NOYNO
x1(t) cie 3t + cpe?
x2(t) N —4ce 3 4 cqe?t

DPTID? MNIND MY DY OINYPD NPND IMNX N0 1N

x1(t) e 3t e?t
=c + 2
xo(t) —4e~ 3t et

oV MNINSN AN 2D TYNNA MO ZNIIYNN DV 250N PNINON I ONN NN NONRYN
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DNOPIN NI INNRY (NIIYNN DTN) 2 1YTHMIY 2NV 2NN NXIN NIIYNN

IR NI PNV PNINN 1231 ,MNINSN ANIND D02 DNNN ON ,IPINYD 0”MON-"ND ON
22250 NINaN

NOIYN OV DNNNIA PN TYNNIY MNONTM DVLAYNN NN NDI NPOOON NOAIN NIO
29012 TIND O .MI2 19IND NIPYIN DX PAYND 2T 3 X 3 IN 2 X 2 ITON MNNYN
X o TON MNNYHD MOIYNY OMN

NN 72U NN D7D N7 NRNND NWIPY s (t) ,a2(t) ,a@(t) I 7.4 DOWN
3 x 3 77120 NININN NINIYWAN

@'(t) = Ad(t)

NNNNSN NWIPW 78 N7 qIrX XN NDIYNN 7Y [NNS 72 X . (e, B) DINNN 7VN
T2V [IN) NDIYNN 7W 7700 [NNSN ,0NI7D .7"N

’l?l:(t) = Clﬁl (t) + CQﬁz(t) —|— C3’J3(t)

) ) ) ) ) ) D N3]

x(t) y1(t) z1(t)

i(t) = |ay(t) | U2(t) = |yu(t)|>  Us(t) = |2z,(¢)

z3(t) ys(t) z3(1)
MON-K N MONN IR PITAD I X TPINYD MNXNYND NOIYN OV MNINS NVIDY 0N
INOPONNN MYNNNI ONOY NPINYD

zi(t) yi(t) z(t)

Wy, G2, Us](t) = |25(t) ya(t) 2za(t)

xz3(t) wys(t) =zs(t)

O”ON dN0 d3(t) ,ux(t) ,ui(t) DONOPIN IR Wi, U, Us|(t) # 0 INPONINN DN
JPAaNYD
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N2WNN 2Y NRINND DN @5(t) ,d@a(t) , @ (t) DN 7.5 DOWN
@'(t) = Ad(t)

(a, 8) DINNN 72 2V N'NINT DONNN W [y, @, dis] [N'POININY IX TR, (o, B) DINNN 2UN
W (t) #0 ,(a, ) DINNA ¢t 727W IN

(Niels Henrik Abel 1802-1829) San nnoil 22

DRTPHN OY MRNYHD NN SY MNIND SY MO NOWN d@s(t) ,da(t) ,d:(t) DN
N, DONWYN

t
W[ty @, is](t) = W(to)efto [P11(t)+p22(t)+pss(t)]dt

T2 NININ NNDNN ,DWNAP DRTPNR NOY2 MNXNYH NOIYN NAY

W[ﬁlv ﬂ2, 63] (t) = W(O)e(all+022+a33)t

NIAPY NI, A DNTPNN NYIVN DY NOIONN DN DD NN ay; + aze + azz DIOON
INPONNNY 121D Y2 DNONNND .trace(A) 2T DY YNDN DNYIN A DV (trace) NAPYN
NN DV IPTID NOIYN DD MAY NN NI OPNADN MNIN NN 1PN

IN2N 2 X 2 NOIyNa Ownd

x (1) 12 1 x1(t)

x,(t) 3 6 ||z2(t)

NIN NPONNN DY TIYND
W = W(0)elo 8 = W (0)ed

TID MNINS NOIYN ONNN OXNRIAN OXNVPIN 2V 2D NOYND NINNND

6_3t eZt
’lTl: = ) ’1_]‘\ ==
—4e3t e2t
19N
1 1
W (0) = =2
-3 -1
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NI NOIYNN OV INPONNIN 10N
W = 2¢e%

mn =2 1712Y nNhdINn

TPINMIN TPIAINYD MNRNYN NOIWYHD MNIND WV T, 4 >D M)

L1 t 1 t
aw = | aw = M),
x2(t) Ya(t)

NI v ,u OV INPONIN

L1 t 1 t
Wi, 6](t) = ©) nl)_ w1 (t)y2(t) — @2(t)y. ()
w2(t)  ya(t)

Nt 29D INPONNN DY NN

Awli, o] = [zy(t)y2(t) — z1(t)ys ()] — [25 () y1(t) — z2()yy ()]

xi(t) yi(t) z1(t) y1(t)
_l_

w2(t) y2(t)|  |z3(t)  wa(P)

a11T1 + a122  aii1yi + ai2y2 L1 Y1
= +
T2 Y2 az1T1 + a22x2  a21yYy1 + az2y2
ajlriy aiiyi 1 Y1
T2 Y2 az2T2 a22Y2

NNV M2IYS MYNNINI IWIN NINKRD JPNYN

R, +<— R;— a;2R, (determinant 1)

Ry, < Ry — a2 R; (determinant 2)

125 MOP
, 1 Y 1 Y1
W' =a + az2 = (a11 + a22)W
L2 Y2 T2 Y2
D79 PONONIINT INNYD 1ODP
dw

— = dt
W (an + (122)
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9551 NNINOVY
W = W(o)e(a11+¢122)t

D799 TPONONIIDT RNV NOAPNN D050 NIPNA 2D PN

dw
—— = trace (A) dt
w

NOVYNY NOYAIY HAN NNDI NIN HY9ON NNINOY

W — eftto trace(A)dt

,n X n. 7TON NAININ NMXRY'? NINIWD NDYND 727 :7.6 DOWUN

@'(t) = Ai(t)

.n 27TD2 NINND 7w N'TI0 NDIWA NR'I , (e, 8) DINNN 7UN

DINNA PNYID NTIPI t 2NN .3 X 3 ITON MXNYN NIIYN NAY LOIYNN NX N*D1 :NNDIN
NOIWNN DV @i (t) PINS OPP NPINYD MIIYND MTHM 0YPN VAVN 9 Y . (a, B)
NONNNN PNIN DX 07PN

1
0

DOPPON ,ds(t) ,dx(t) MNINS NP JOIN IMNI

0 0
62(1:) = |1, ﬁ?p(t) = (0],
0 1

INPONNN PO NINYD MIDN- N0 NN s (t) ,da(t) i, (t) NNAPN OTIPN VIVNN *9 DY
to NTIPIA DANNN IPN NOHVY

Wty U, Us](to) =0 1 0/ =1#0
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DO IN NIIYNN OV INYID PINS NN () DN

(&1

Ca2| — ﬂ(to)

C3

D)
U(t) = c1ty(t) + catia(t) + catis(t)
NN
T(to) = c1ti(to) + catiz(to) + csiiz(to)
_1_ _0_ -0_ _cl_
= c1|0| tc2|1| F¢c3|0| = |co
0 0 1 cs3

NP NN @ MDD, (a, B) DINNA ¢t D30 w(t) = T(t) ,MTHM DYPN VYN 9 DY
MNINAN AN D0 RN {@y, Ua, Uz} NNAPN O, {Uy, Ua, Uz} MNINON DV IO
| 0ynn Sv

MNXNYND NOYN DY MNINSN 2NIND DDA DY YONNRNN MR DX NDW DTIPN VIVND
N3N 25Wa D MININS DD NINNDD PRI INYID I NN IPX TR ,TIMNDIN TINYD
NOIYN SV NIAPNN MAY D MDD MNIND NIIYN NNONND NV INN) OV DN DY

OMWAP ONTPN NOYA NPNIMIN NPIND MNNYN

DVIaP OMNTPN OY NINNIA NIIYN PIN MOV

TP TPINPD MNXNYND NOIYN 1NN

(7.1) @'(t) = Ai(t)

NOYN SV NIPNA TPNN) MNN OVY .n X n IT0N DA DNTPN NPIVN A IYUND
NINNN MNIND WANI ,M)T NN NN MNNYN OV NIPNY MMTa .3 x 3 DTN

ceM c1
= Xt _ At=
U= |cpeM| =€ || =€e7C
cze cs

§7.3
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NN @(t) OV NN LE T DY DWIAPN NOVPY DX IO

C1

@(t) = xeM|c,| = AeME

C3

PNV INNVND NN NOY MNNYNN NIIYN 10N
A - eMé = \eMéE

e’ MDD DINDIN INNRD)
(7.2) A= )éC

YN TPIND MNNYND NIIYN 02PN

(7.3) (A—AXI)E=0
) ) DTN NI0N NN T IUND
1 00
I'=10 1 o0
0 0 1

29 DY .DMNINY DY) DNVPI XY IPINYON NI2ONND NTYVNR 1Y NIOM (7.3) NoIyNn
P DN & # 0 9N RY NINS 07 (7.3) NOIYND ,1INON NI2IORN OV ITID? VAYN

DN
(7.9) |A—XI| =0

SV A VMY DD, A NNI0VNN DY IIMMIRD DINDINN NYYND NN ONNY GPINIY NIPNIVTH
NOIYNN DV € ORIV XD PINT DD, A NNIVNN DV MNINY TIY XIPI IVNINND DINON
eMZ YTID PINS DORNND € INY NOVPY DD ,IMNIND A=Y THYN MSY 999 RIPY L(7.3)
D90 OV DYNINYN DMNVPIN ON € DNV L(7.1) TPONNIITA NOIYHNN Ny
>TO1 D7I10N PND2 D»NNY DNVPY NVIDYI PYTI OPIPT X ,NINKD VIVNN 29 DY A
oW NIV XINT T DY A0I L(7.1) DPONNINDTN NOIYNN DV )IN9N ANIND ©01a Dapd

LD”NNY DNV NY DY DDA NINND DYITI DN NAY 2 X 2 NOIWYN

MXNYNN NOIYND 259 PNINS Ry1 1 NNAIT

o) (t) = 2x1(t) — x2(1)

x5(t) = 3x1(t) 4 6x2(1)
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YMOPY) 2°NO0 NAYY |INND

x (t) |2 -1 x1(t)

!, (t) 3 6 ||xa(t)
DNTPRN NYIVN SV DPHNYN D2IIYN NN AWN)

2—-2 -1
=2-A)(6—-A)+3=X—-8\+15=0
3 6-—2A

DYPNRNNN OPNNYN DNOPIN DX AYN) A = 3,5 0N 2NN DI DV DVYNYN

NoN OO0
-1 —1||c 0
3 3 ||e 0
-3 —1||c 0
3 —1||c 0
D»NNYN DNOVPIN DY NN NINNDD NYP RO
1 1
9
-1 -3
NOIYND MNING 7Y 100 NODP
1 1
-1 -3

NI ¢ =0 NTIPI2 NON MNIND IV DV INPONNN

W[’El:l, l_[g] (O) =
-1 -3
INPONNN NP>TA 1DD) MIDN-"NDA TN NN DPNNY OXNOVP) DV NIIYN 2D DINNN IPN
125 NN NIIYNN DY 900N PINSN L(NDI9D NP>TA MIVNID NXOMIN TR ,TPNIDN NN
x1(t) e3t et

=C + c2
T2 () —e3t —3e®
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N2NNNN N”Ya MY P09 PINS XYM 2 NNAIT

i (t) = z1(t) + z2(t) — x3(2) x1(0) = 5
xo(t) = 2x1(t) + 3z2(t) — 4x3(t) x2(0) = 10
x5(t) = 4x1(t) + x2(t) — 4x3(t) x3(0) = 15

ND ONTPNN NIV I|INND

4 1 —4
NN 2POIND DIPON
1—2)\ 1 -1
3—)\ —4 2 4 2 33—\
2 33—\ —4 |=1=X) - -
1 —4-X |4 —4—-x |4 1
4 1 —4- )

=(1-AN[A=3)(A+4)+4] — (—8—21+16) — (2 — 12 +4))
=1 =A)A24+X—8)+8+2X—16 —2+ 12 — 4\
=A24+A—-8-23-224+8X+6—2)
=-2A34+7A-6=0
WVIN2) >T> DY NIV TPYWIOVY NOYNN OIS NOP
AN —TA+6 = X2—X—-6)X+6
= AA2—-1)—6(\A—1)
= AA+1)A—1)—6(A—1)
= A=1)(A2+ A1 —6)

= A-—1)(A+3)(A—2)

DNV DPNNY 0°DIY NVIDY 1NODP
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C1

Ca

C3

0 1 —1
(A-I)¢ = |2 2 —4a
4 1 -5
-1 1 -1
(A-2I)¢ = |2 1 -4
4 1 —6
4 1 -1
(A+3I)¢ = |2 6 —4
4 1 -1

(&1

C2

C3

0

=10

0
C1 0
Cco| — 0
C3 0

0

=10

0

O”NXY OXNVPY NNXND

D»”NNYN DX NOPIN DX NXNDY NPTN DOY O DY

zo(t)| = c1|1]|€ +ca|2

x2(0)| =C1|1| +¢2|2
c1+c2+c3

c1+ 2¢cy + Tes

c1 +c2+ 1le3

+ c3

10

15

1

7

11

NOIYNN OV 050N PNINSN 1D

1

€2t+03 7 e—3t

11

5

= |10

15

Y099 PINS NNXN

NPINYY MNNYN NOIYN HaP)
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YA OV PINON D0 ez =1 ,co = —1 ,c; = 5 PINON NN 22 NPTN NOWA PIND
NN 2NN
x1(t) = 5et — e + e 3
x2(t) = 5e' — 2e? + Te 3t
x3(t) = 5e' —e? 4 11e ¥

k > 1 NNT MOURINAI 229N 12N DY avpsy ooy B

NDIANY OPNNY DOIY MDD D0V DPNNY DY NODP MNTIPN MNNNTH *Nva
N OOy A D”NNY DDIY DAPD OMYY DN DINN DIPNI .1 NN DNOY 2I2ONN
DMNOPIN 2NN OV TN NI A MI8Y TIY DY 0NN NN TARD NTY k 2I2ON

k7O 1 P2 vy N 90N D DOV DPNNYN

MINYN TIYD MDD Lk 2I2IONN N2 NNT IVMINID 1220 12 NIPNRA D9V NONN 2ADVA
VIR A NNYN TIWD MO NIPNA LTy ... T T DIDN OND2 OYNNY DNV kWA
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2 2 2—A 0 A=A

Dy NYYI NVIPNIVTN MY ,NMIVN NNV TPYDOYN NNYN DX NIDNN 2w NN ToNna
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A =6 , =0 D”INY DY NV NODP .IPYOYN NMYN 09
NOIYNN PINS T DY DAPNN A = 070 DXIPYN DINYN DNOPIN

2 2 2||a 0
2 2 2|az| = |0
2 2 2||as 0

NOIYND TIONN VIV NPT INNOY

1 1 1||ay 0
0 0 O0f|az| = |0
0 O O]las 0

NN NINND NYP RD .2 XN A = 0 DY MUMININ MN2I0 1991, 2 waIN NITT Oy NOIYN I
DYNAN O”NNY DMNVPY IV

&

I

I
[y
S

I
o

—4 2 2 ||ax 0
2 —4 2 |lazx| = |0
2 2 —4||as 0

NOYND TIONN VIV NPT INNOY

2 -1 —-1||ca 0
0 1 -1 Co| — 0
0 0 0]|es 0

NYP ND .1 XN A = 6 DV MONININ NN MDD ,1 VAN NHXIT OY NIIYN NN M9ND
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NIN MNYN NOPIN DR NINNAD

3!
I
-

125 DN PINMINND NIIYNN DY DPTIDN MNINN

1 1 1
W (t) = de” = | 1|, a(t)=be" =0 |, s(t)=2e® =|1]|e"
0 1 1

NI DPRIINN NOIYND 900N PN 1OMN

H(t)zcl 1| +ec2| 0| +es|1|e”

0 —1 1

IOV NINMIN-NIOND NOIVYND RN PYOY

(7.7) #(t) = AZ(t) + q(t)
] _ . TUND

2 2 2 1

A= |2 2 2|, qit) = |o

2 2 2 0

INNNY P(E) 2079 PNIND RINDD W DIVNIN DY TPIN NN NOWY 19 DY

1 1 1
P(t) = ci(t)|—1| +c2(t)| 0 | +es(t)|1]|e”
0 —1 1

NIYNN NN DHAPIN c4(t) ,c4(t) ¢, (1) TR

A (t)|—1| + ()| 0 | +c5) |1]e® = |o
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DY MUDIANN MNNDN VDY >T DY IN NPTN DOV T DY NN NOIYNN DX NN N2
YNONN NIPNIA D7 MIP D55

1 1 1
W = W[ﬁl,ﬁ2,ﬁg] = -1 0 1 €6t = 3€6t
0 -1 1
1 1 1
W, =Wiq,uz,u3] = |0 0 1 e = e%
0 -1 1
1 1 1
Wy =Wliy, g, is] = |1 0 1% =e"
0 0 1
1 1 1
Wi = Wlidy,42,q] = |-1 0 o0/=1
0 -1 0
95
w, 1 Wy 1 W3
ct) = — =— c(t) = — = — ch(t) = — = —e %
W =sr=5 ab=i=5 &Gt)="=1
t t 1 1>
ci(t) = — ca(t) = — c3(t) = ——e
W=g  e®=5  a®=-
125 NI OV P09 NINAN
2t 1
1 1 1 > —
5(t) = t N t 1 o,
plt)=z|-1]+5|0 sl T |51
t 1
0 | —1] 1 =5 s

PINS XN H(¢) JIRY PITAD TIND YO0 5730 TONNA 2N NNV NMAIN MPIA0N 2PY
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nrm

17 NINIYN 28 NIDWA (7 P9

Ap(t) + 4 =

2

u(t)

2

2

2

w|R

Wl

e+

%/

R

+

+ c2

Wl

Wl
]

Wl
L

+ c3

TPNIMIN-RON NOIVNN DY

=P (1)

6t

7 P97 D'2'AN

17NN2 1901N' 090 NIINND .07 2NNN P7N7 D'X?NI1ED"DI0 NRINND N'7'2NN 1091 NNANNT WP W NR'WIN §I0 :1d1TN

—5

-3

x'(t) + =(t) + 5y(t) =0

y'(t) —x(t) —y(t) =0

x (t) = z1(t) — 3z2(t)

x5 (t) = 3z1(t) + z2(t)

x(t) = bx1(t) — 2x2(2)

xy(t) = dx1(t) — z2(t)

Z(t) .N

x'(t) = 2x(t) + y(t) + cost
y'(t) = —x(t) + 2sint

IDIND X7 " TYYW 0'7'20N7 D'S0N NNINND DT'N?NNN 72P7 TIXD NRWY (D' T'R?NN TXN NITY? NIpn) [Nt

MXNYND NOIYN 9D NAY OO0 PINS Ny .1

2/(t) = () — 3y(t)
y/(8) = Ba(t) + y(2)

x'(t) = 2z(t) + y(t)

'y (t)

5(t)

a'(t)

A
y'(t) = 3z(t) + 4y(1)
x(t) = Tx1(t) + 3z2(t) a
x,(t) = 6x1(t) + 4x2(t)
—2 1| |x2(2) .
= y(t) — 5cost o

y'(t)

= 2z(t) +y(t)
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eSt

0 1
Z'(t) = { Z(t) + N’

-1 0

263t

x'(t) = x(t) —y(t) + z(¢)
y'(t) =z(t) +y(t) —=z(t) -2
Z'(t) = 2x(t) — y(t)

1 —2 1 -1 1 1
Ft)=|-1 1 1 |Z(@¢) .T Ft)=11 -1 1 |&@ X
10 -1 1 1 -1

x'(t) = 2x(t) + y(t) 1 -1 1

y'(t) = z(t) + 3y(t) — z(t) -TO Ft)=[1 1 1|Z@F) .10
Z'(t) = =(t) + 2y(t) 4 -1 4

z'(t) = z(t) — 2y(t) — z(t) 1 -1 -1

y'(t) = y(t) —z(t) +2(t) I Ft) =11 1 o |&F) .T
Z'(t) = =(t) — =2(t) 3 0 1

@' (t) = 2ax(t) — y(t) + 2(1)
y'(t) = z(t) +2y(t) — z(t) -V
Z'(t) = =(t) — y(t) + 22()

' (t) = z(t) + 2y(t) + 16tet

y/() = 2a(t) — 2y (1)

1 01 tet

Ft)=1{1 1 0|ZF(®) + |te**| NI

0 0 1 et
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2 2 2 1

(t)= |2 2 2/Z(t)+ |0 23

2 2 2 0

NINAD NYNNNN DYy IR NS .2

/() =22(t) +y(t) | 20 =1

y'(t) = z(t) +2y(t) | y(0)=3
() =yt)+t | z(0)=1 N
y'(t) =z(t)+ e | y(0)=0

1 3 -1
Z(0) = { ] T (t) = [ ]:i:’(t) )
1 4 -1

z'(t) —xz(t) — 5y(t) =1 z(0) =0 5

y'(t) + 2x(t) + y(t) =€t | y(0) =0
x'(t) = y(t) —5cost | x=(0) =0 )
y'(t) =2x(t) +y(t) | y(0)=0

x(0) =1 |

x'(t) = y(t) +t
y(0) =0

y'(t) = z(t) + €

noaynn N .3

)= (1 ¢ 1|Z()

o1(t)
95 Dy DIDN NOWNN SV ZE(t) = |g,(t)| NIND 9O DNIY ¢ DV TIIPN 75 NN NN

I3 (t)
- .(0,00) 1PN
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MNINaY nwp €

MNINY nwp €
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https://github.com/samyzaf/notebooks/blob/main/ode7.ipynb
https://colab.research.google.com/github/samyzaf/notebooks/blob/main/ode7.ipynb
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8 P19
D910 DV9NN NOY

WYy Nan X

WYIN PODPOVIAPNN GNIN AWM DY NDDINNY NPORIPN NPPVNRNNN 293y DPND T2
M0 DY NTIAY DY D¥NLVNND NN (Finite Difference Method) D?90N DWISNN NVYW DAV
JONNMONN NPPONNNN DV XNDINN G870 DY IO D»I9DN OIIY DV DY 19D (grid)
NP 1D PTIN-IT PID 29 DY YSIANN DVND M2 NPONINITNT MNNYN DV NIND NPPN

.8.1 TN DNV

YA
Ax Ax
t x; = xo + 1Az
Yit1 —- At{ o ¥i = yo + Ay
Ay tr = to + kAL
Yi A4 ad 1™ s s
A Ul4,j,k] <> u(x;,y;, te)
Ay te_1
Yi—1 y Ay Ay
A R
/ﬂ]—}/yj w+}/ >y
Aa;f /4_7 S
Azl
Az ¢
. Wit s
Ti—1 x; Tit1 z K
D"SI0N D'YWIDNN NO'W JIAY 'DI9'0 ' TR'M-IT X0 :8.1 WI'N D"9I10N D'YI9NN NO'W 1IAY 1IAY ' TR'M-N?N A0 :8.2 1I'N

D»T0-17 D10 DY YSIANN NPPON NPONINIINT MNNYN OV NIND NPPN NMT 191X
NYVPNNY NPYI OV PIND IWARD NI N YD YN YINn 8.2 TN DNV Mt D
OTIPN INDD NO 1TONY NPTV 2N NPNONOVY DP2IWN DNNINON MYNNINI
’379Y ,MI2)7 NPONINIINT MNNVYN DV NN ,OWNI YN ANPI DPN NNONND MOPWNM)
2apNN »I0N OO0 TV Ly ,x; DT ODIY DY DY DOIYND DAY L,y ,z DINYN
Az =% T7INI 0N DN DYOP-NN nTD -PY DY [a,b] NI YOP NPIDN T DY

APITH MTIPI IN (nodes) DINNY DINIPY x; = a + 1Az NPIDNN MNP

ro=a, x =a+Axr, xz32=a+2Ax, ..., x,=2Db


https://en.wikipedia.org/wiki/Finite_difference_method
https://samyzaf.com
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APYNN Y1 XIPY n OYaLN 190N

D'NNYX n + 171 D'YOP-"NN » =7 '9I0 YOP 7Y NT'NN NPI7N 8.3 1I'N

vy = f(x) PPSPND NPPN 1NN 1+ 1 NINY DYOP-INN nTO YOP NPdN D PN
y; = f(x;) OIIYN NPPN T DY y¥IND

yz:.f(mz)a t=0,1,2,...,n

DYDY TIIA) OPNANX NIONA DPN Ay = yipq — ¥ DOVIONN ,z ™0 2Ty TN T3
D PN (8.1 IPNND DaApNNY

Yo = f(xo) = f(a)

yn = f(xn) = f(b)
PYT DY DM LDPIVHINRD MNINGD IVAND DD DXIP MNIND PYND NN NONYN
1Y ROVW NPYA DV N 2N PN NN 551 072N DNMMINON MYNNNI TN VONN
JPVDIN NN NNad
DX2AVNN IMYNNNIY FINDPDOYIPND 212)0 IVIND MyNnvwn PN DPINDN DXVINNN NVIYA
NTIPI2 TPVNN TPNPND DOV NI NN DWVND

f(@) = Jim f(z+ AAQZ — f(=)
MYSNNI NIIN OV V0 P00 VP 2aPD DON ,NPTY PraDN NOY DOIYN NYIY NN
NN2N DV NN
f(zi + Azx) — f(x:) _ F(@iv1) — f(=i) _ Y1 — ¥

/
T;) ~
(i) Ax Ax Tip1 — T
plalp)
dy Ay Yiy1 —Yi
dx Ax Tit1 — T;
INNN DPRYDO0 NN IN
d it1 — Yi
(8.1) ay _ Y1~ Yi

dx Ax
NN PPN DX PTYND D01 DONDN OIPRa

(8.2) ay _ Y~ Y1
dx Ax
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N3N NNDNN YA NN DIV

pa) = i 1O 1@ =80
MMINNR Y9N NIV (forward difference) 7P 9990 DY NNIPI NNYNRIN NNONN
IN TPNNN (recursion) NIV MNRNDNA OOWVINYND Y1) MNVYN NPN .(backward difference)
(central difference) 991 w49N DV NDP)Y D) NOYP .TPNTP

dy  Yiy1 — Yia

(8.3)
dx 2Ax
IANaN DNDNNN YA
Ax) — — A
Flo) = lim T@FAD) = f@ - Az)
Az—0 2Ax
1Y NIID 2INNN DIPPN DX VNI TYNND 90N NMT 191N
e — i S @TAD = @) f@it A) - /(@)
? Ax—0 Ax Ax
f(@itAztAz)—f(zi+Az) _ f(zitAz)—f(@i)
~ Az Az
Ax
_ f(zi +2Az) — 2f(z;i + Az) + f(z:)
o Ax?
_ f(xit2) — 2f (zig1) + f(2:) _ Yiv2 — 2Yip1 + Ui
Ax? Ax?
NADN NNDN ND 2N NNT MYYD NaON 7717
Fz:) = lim fiai) — f'(@i — Az) /(@) — f'(@i — Ax)
' Az—0 Ax Ax
FxitAz)—f(z;) _ f(zi)—f(zi—Az)
~ Ax Az
Ax
S+ Az) —2f(xi) + f(@s — Az)  yiy1 — 2y + Yia
Ax? o Ax?
IV NIDIN DV OINNN PO MNY MINNON NV IO
d*y  Yir2 — 2Yip1 + i
dx? ~ Ax?
(8.4)

d*y  Yir1 — 2y + Yia

dxz? Ax2
MINN YH9D NNDI) DX NNDPP YW ATON 1I99 Y9N MTP ¥H99 MNXNOND 7Y TH W

TNRON5 9XN0 PRV N e L
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NN NNNT1 N1 VNNhvv

(8.5) ) ~ Y Yi—1 + Yi—2
dx? Ax?

LINDN DY, TPWAN ,TPWOUN NN MY DY MRND NNAD 551 NMT 19IN2

(Euler) 99K Y 7PN 90N NOW AONNHN

PN NN LIDIN TIIND INYN ORPIOVNNND 7PN RYDN NN IPNY NIYNRIN IRPPONNNN
TPONONITNDT INNYND 2NPN PINS NDIAPD OOHVP DWINA YNNYND YNNIV NUNRIN
™O55N0 NN

y'(lﬁ = F(z,y)

00N N Ly = y(x;) DN L,YOPA MOV DNNSN NITO NN x; DN .[a,b] >0 YOP Syn

T OY Y (x;) = EEEE RN DR 2990

Yi+1 — Yi
= = F(x;,vy;
A ( 'Y )

y; ©’29YN NITO 2N NVIVO NIDI NNON D2P) 1O

(8.6) Yi+1 = ¥i + F(xi, y:) Ax Yol D

NNDNA NYRNWYN N INNRD (Forward Euler Method) TP 99N NVXY NNIPI R DOV
TAN TT2 PIND NVYND DAP) yo = y(xo) NONNN ONIN DD NIV NNINA .TPITP NN
SONNYND MNSD

.y(0) = 0 NN Oy [0,2] YOpPa ¢ = 3z%(y + 1) V"5 27PN PINS avny 1 NnAIT
N0 L(N9¥IMD VIN) NWYND) ¢y = e*° — 1 TIRP’D NOWA 207 PNIND ININ 3 P19 9Poa
27901 PON 2P AN NOVXY MYSNNA HAPNNN PINSN ON 172D

LIND OT RSP NNYS NNONN NAYA D17YAN TITP ,ADIN DNON DY NdNTNIN MOLYAD MTIN
.8.4 PN MNID NIV 29D

a=290 # Interval = [0,2]

b= 2 o
N = 100 # Division size 100

dx = (b-a)/N # x step

X = np.array([a + i*dx for i in range(N+1)]) # x nodes

Y = np.zeros(N+1) # y nodes (initialized to zero)

Y[e] = @ # initial condition y(@) = ©

F = lambda i: 3*X[i]**2 * (Y[i] + 1) # this is our F from: y'=F(x,y)
for 1 in range(@, N):
Y[i+1] = Y[i] + F(i)*dx

AN NOWA 3’ = 322(y + 1) NNIWNAN [NND 2y NEZNumPy Tip :8.4 'R

§8.2


https://en.wikipedia.org/wiki/Euler_method
https://www.youtube.com/watch?v=ukNbG7muKho
https://colab.research.google.com/github/samyzaf/notebooks/blob/main/fdm_euler1.ipynb
https://colab.research.google.com/github/samyzaf/notebooks/blob/main/fdm_euler1.ipynb
https://numpy.org
https://samyzaf.com
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90 INMNX INYND) TTAN 9N DX VVLIYD NN DY MDWNN DYINND NVIV DN TITN
1) DA D29MN DY NND TY DN 8.5 NI Ly(xz) = e’ — 1 MTPHRN PINSN HY
O DPINT OV ANIIPN NIANN DYN TP NNIN MYSNINI DT N0N MADN MP>Ta y8ad

3000 -
= = s = Real solution

2500 1" Numerical solution

2000 A

1500 A
y = 3x*(y + 1) ¢t J

1000 1
x € [0,2]

500 ~

000 025 050 075 100 125 150 175 2.00

y' = 3z2(y 4+ 1) N"WAN 7Y (DITX IP) MMNN NN 210 (7IND 1) NNRN NN9N :8.5 1I'R

YOPN TN ,n NPIIONN DTN, F Dy DONINN 0NN XN (8.6) NNDN 220D NONVIYV NONYN
Oy NIYD »TO2 PIPHIND PINSD DONYA NN PYT NN IR/ MOIdNN ONYVIANY | [a, b]
NN NNYLN DX NON N NONY

p(x) TISPNS NNYP NN .z NTIPIA NP PPN F(x) 2NN (ANY 2P) 8.1 MIYD
,To N0 = 9O, , Jim p(x) =0 "V 10,z N2202

(8.7) f(@) = f(zo) + f'(z0)(x — 20) + p(z)(z — x0)
p(x) MP¥PNON NITINA 2NN :NN2IN
(8.8) p(x) = /@) — igw(’) — f'(wo)

’D MH NOITINN

REERC

L — Io

lim p(z) = lim f(x) — f(=o)

r—rxo Tr—rxo xr — wo r—rxo

— f'(a:o)] = lim
= f'(x0) — f'(x0) =0
9aP) (x — ) V222 (8.8) NNNYNN P9IN NV NN 9193) DN

p(x)(x — xo) = f(x) — f(0) — f'(x0) (xz — x0)


https://colab.research.google.com/github/samyzaf/notebooks/blob/main/fdm_euler1.ipynb
https://colab.research.google.com/github/samyzaf/notebooks/blob/main/fdm_euler1.ipynb
https://samyzaf.com
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22P) PIND PNND NIAYN INRDN

i f(@) = f(x0) + f'(z0) (® — @0) + p(2)(x — o)

VYN NN f (o) + f/(x0) (& —x0) NV2AM INND MINIY 299 DA NNIPI (8.7) NNDIN
DIVID 2PN .z DV MUP N0 f(x) PPN TIND NP TPYYIY TDIAINOYD 7PNPN
NI J9IN2 D) NN

F(x) = f(zo) + f'(x0)Ax + O(Azx)Ax

Az — 0 JYND DAND GNIVY DION PN DTN NN O(Az) MNVAM Az = x — xo IYND
A[2] :MPN) NIN VLIYNI D DPVNNN DVIPY DX N2 W PIIVWNN VIDYN TN

[INNS D"j7 DX . D DIDN W'D DINN 7VN NID'XI] DT N'YPAID F(z,y) 'NN :8.2 095¥n
[a,b] YOPA NZNNN 'NaN DY 1" TN7 y(x)
y,:F(way)a a<z<b
y(a) = yo

'M'MXN [INN97 N'NTIPY D1DNN Y?'IN NO'W 7Y 4 = 0,1,2,..., N ,y; TTIN |NNON TN
TN ,ANAUN XN e; = y; — y(z;) DN NXTD NN .NT' T2 NTIPY 702

AAx

JOPN 7Y NPI7NN 190N XN n , A = max |Fy(z, y(z))| TWND

R P DOV WNND ¢ =0,1,2,...,n ,y; ,T; ,[a,b] YOPN NPIDND ON»N) NNDJIN
YT DY T MOIYN NYVON
y(xiy1) — y()
Ax
Ax = Tip1—T; —> 0WNDT; >0 mia) ) TP = —p(il?H_l) = O(ACB) T\D-npﬂ MIYLN 1’9 b)’

T, =y (xi) —

»1r Sy e; IMIND ANNDYA DN T
€ =Y — y(%)

D 1PN NHYNYD
Y(@it1) —y(@:) ' ()
Ax ’

Ti = p(x;) =


https://samyzaf.com
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25
€it1 = Yit1 — Y(@it1) = ¥i + F(zi yi) Az — y(Tit1)

= yi —y(@:) + F(zi, y)) Az + y(z:) — y(Tit1)
= e+ F(zi,yi) Az — (y(@iv1) — y(=:))
= e + F(xi,yi) Az — ¢y'(z;) Az + p(x;)Ax
— e+ F(ws, y) Az — F(ms, y(2:)) Az + p(w:) Aw
— e+ [F(zi,y5) — F(wi, y(2:))] Az + 1Az
= e+ Fy(zi, 9;) (v — y(z:)) Az + 1Az
= e+ Fy(xi,y;)e;Ax + T, Ax
— e[l + F,(zi,9,)A%] + 1Az

JDINND DY O»”yan TIY VAVNI NVNNVA YV NNV

F(xi,y:) — F(xi, y(x:)) = F,(x;,7;)
yi — y(x;) e

Ly(z) ™0 y; YAV 0”2 Ty NN g, NTIPIN
e; TMTIPN NINRDYN DTN O |e;pq| TPTPNRD IRDYA DT IR TIYND NON
leiv| = lei(1+ Fy(xs, y;)Azx) + 1Az
< el (X + |Fy (i, yi| ) Az + |7 Az
< (14 AAx)|e;| + |m:|Ax

1991 ,0W NMION E, NN 199 1OV 20Pampn DINNA MONIA AP F(z,y) 1P8PNON
NIN YDONPIN PNVN-R NN DODP A = Max |F,(z,y)| DIDOpPHN O”P

(8.9) leir1| < (1 4+ AAx)|e;| + || Ax

2¥912 DD DY MYMNN 933 VOMNND TIYD IR NVNYN P2 1 + AAz > 0 D> N2
i = 1 2°8) ON 99D NP JPNVY-R D2PD 2TO1 MOVIVY MNHINT PNV DY PONPIN NN
22y (8.9) YYMW-NR2

lez] < (1 + AAz)[er| + [11]Ax

NN DARNY 191D NWRIN ADNMN e; = 0 IN y; = y(x;) DN 2
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2P i =2 MY PN

les|] < (1 4+ AAx)|ez| + |m2|Ax
< (14 2Az) [(1+ AAz)|eq| + |1|Az] + || Az
< (14 AAz)?ler] + (1 + AAz) | |Az + || Az

NOP
(8.10) les| < (1 4+ AAz)?|er| + (1 + AAz) |7 |Az + |12|Ax

N WNN 2 =3 MaY
les] < (1 4+ AAz)|es| + |m3|Ax
< (14 2A2)[(1+ AAz)?|es| + (1 4 AAZ) |71 |Az + |72| Ax| + |75/ A

(1 4+ AAx)?|er| + (1 + AAZ)? |1 |Az + (1 + AAz) |2 |Ax + |13]|Ax

NOP
(8.11) les] < (1 + AAz)3|er]| + (1 + AAz)? |11 |Az + (1 + AAz) || Az + | 13| Az

NN L,(8.11) ,(8.10) DIVNVY-INRND 120 .1 Az = O(Az?) 199 ,7; = O(Az) > 1PN MOYND
1<k <n 95 May» or1md

k—1 .
lext1] < (1 4+ AAz)|eq| + _§0(1 + AAz)'0O(Az?)

k—1 :
= (14 AAx)*|les| + O(Az?) Z:o(l + AAzx)*

(1+XAz) —1

= (14 XAx)* - 0(Az?

(1+ XAZ) ey | + = O(Ax?)

(8.12)
1+ AAz)*
— (1—|—/\Aa:)k|el|—|—(+)\m)-O(Aw)
AkAx
< (1+XAz)*O(Ax) + - O(Ax)
AkAx

< Mo (Ax) + -0(Az) ——— 0
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OP 2 MO .g = 1+ AAz IYNRD YOTIN MV OV DIDDN NNDNI NYNHNYND NPWOVN NNVA
DIVAD 501 TPONNM INRN . (1 + AAz)F < AT PNVUN-R DX NPOIND

O(Az) = X- O(Ax)

AkAzx

DIVI2 20N D102 P9 <— - O(Az) "012a AT0(Ax) MNO°AN DN PONNT 2O
AkAx
|€k+1| S . O(Aw) n—>—oo> 0

NPIYNN 190NV 935 x; MTIPIN D22 PTPHINRN PNINAD DIDNND g; WOV 2INNN VPPN 20
| NOPRY NI n

N9 INININNT ARNYN MY NNDY NNHDY

N9NNN NN DY T VIVE ININAY NIV TPONOKITDT ANNYN DY NN 2 NNAIT
.[0,7] Yopa = =0 NP1

y'+y=0
y(0) =1
y'(0) =0

NNINS IR NINND 5PV DOWAP DNTPHN NOYA NPINDD TPONINIIPT INNYD 2D OON
NNDNI VNNWY NN DWISNN NVWA DAPNNY PNINSNY XTNY TI08) 129 .y(z) = cosx
PIVN NN NAY (8.5) P NNNN WIONN
Yi — 2Yi—1 + Yi—2

Ax?
YD) .ONMY OPON nTD [0, ] YOPN DX PONY ,n D1 T) P2O0N Y2V 190N NIAY

+y; =0

d=Ax = —
n

i =2,3,...,m 7Y MY y; NWNS (MNTPNN) IPDI DD NNAN
Yi —2Yi 1+ Yi2 +d’y; =0

25
yi = 2yi1 — Yi—2
’ 1+ d?
Jgo = 1 )M PYNRI NONNN NN

AP MY NYNNN NN
y(d) —y(0)  y1— %o

0=1y'(0) = 7 p
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i NAY NNOND MPONPI DNON NODVP .y, = 1 NIONA DD

Yo =1
y1 =1
2Yi-1 — Yi—2
Yi=——""T"15
1+d

MNTPNNN NNDIN NONNNN PXIN Y TN DY y DY O2OIYN DO NN 2VND NIVIND NNODN
N2 PNYON TIiP2 MINID 1NNV 29D

a=290 # Interval = [0,2] 100
b = pi
N = 200 # Division size 0.75 7
dx = (b-a)/N # x step 050 4
X = np.array([a + i*dx for i in range(N+1)]) # x nodes ’
Y = np.zeros(N+1) # y nodes (initialized to zero) 0.25 4
Y[e] =1 # initial condition y(@) = 1 0.00 4
Y[1] = 1 # initial condition y'(@) =1 —0.25 1
for i in range(2, N+1):
Y[i] = (2*Y[i-1] - Y[i-2]) / (1 + dx**2) ~0.50
plt.plot(X, Y, color="blue", linewidth=1.5) —0.759
Yreal = np.cos(X) # The real solution of the equation -1.00 A
plt.plot(X, Yreal, color="red", linewidth=1.5) 0.0 05 10 15 50 o5 30
y -]jynn AIYWN Dw‘7 ||n||9 NnNO'NN NSWA -”Ij :8.6 AI'N (COS.’E) MMNN l?”] '73|3T‘||"|EJ |I'1]'19|"| DI :8.7 AI'N

OV OTPNINRN PNINGD NP TTAN PINON OV PYTN NN NND CTY MR N 8.7 IPNA
N2y PYTN NI ,n = 1000 DNPID IWND .(d = ;55 1991) n = 200 NPIDN NAY ,INNVON
D202 NMAX PYT NNID YIND I 1921 (MY NPAONR) NI RID WNN I .99.7% 5

Rl

DYVWI9 M0 JY NPINID MINNIYN NIIYN

IN DONNN DY NN AT TITH ,DAPNRN 212 LNIYVARNDND THRN ND DYDY NNDN
LDONYN OV 51T 190102 NPINYD MNXNYN NIIYN SV NINS MYNNINI NN NV Ny
Oy NV NN DY [—3,3] 20N YOPN VY Airy INNIVNR NN NN PYOY N 3 NNAIT
.b=3 ,a=—3 Yopn Msp

y'—xy =0
y(=3) =4
y(3) = =5

MNNYNI PDD2 DNP D52 LYNDY [ NPPONNN DINNA NYY  TPHNONINDT INNVND N
YOPN DY TNN9 NTIPIA NONNN MNIN OY NNMIN NNAY T O TMD MY NPONININST
NY NONN MOWN .5 P92 NINND 110 D PINAY NONT .MPIN N0 VIdY MYNNNI
NN NN T NN .YOPN DY NAY OXIN MIN ORNYNND DX NN > TO1 MPPaon
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.D»M0N DXVISNN NVY MYNNNIA N»YaN
TNNA MY DPON n~D [—3,3] YOPN NN PONY ,n D1T) 929010 *Ya0 190N N1AY

d=Azx = —
n
y” MY ((8.4) SW MIWN NNDIN) XN YISNN NNDNI YHNWY)
Yir1 — 2Yi + Yia
(iZ
Yn e Y1 Yo DOV n 171 APANDY MNNYN NN NI

—xy; =0

Yo = 4

yi—l_(d2mi+2)yi+yi+1zo7 t=12,...,m—1

Yn = —5

NNNVYND DINNN y(3) = —5 NAYNONIM ,yp = 1 NDRNVYND DINNN y(—3) = 4 NIV NN
oVNS D02 1PN MIDIN D T DY DAY MYPA YNIANN NOIWYNN OV PININ Ly, = —5
.8.9 ,8.8 DIPNI NIV 29D NPYIAN NN NN 1N’ NZNumPy n5»an myNnNa

np.zeros((N+1, N+1))
np.zeros(N+1) 21
[a+i*d for 1 in range(N+1)]

a=-3 # Interval = [-3,3]

bE=S3

N = 1000 # Division size

d = (b-a)/N # X step

X = np.array([a + i*d for i in range(N+1)]) # X nodes ]
Y = np.zeros(N+1) # y nodes (initialized to zero)

A

B

X

for i in range(1, N):
Ali,i-1] =1
A[i,i] = -d**2 * X[i] - 2
Ali,i+1] =1

B[i] - ©

A[@,0] = 1

B[O] = 4 g

A[N,N] = 1

BIN] = -5

Y = np.linalg.solve(A, B) B 5 . 0 1 > 3
y VNN AIYN DY7? [IN'D NNDNN NOWA TIP :8.8 1I'R Airy NXIIWN 112y 72pNNY [INNSN DIDY :8.9 TI'N

PINSN ON PITAD NN, NPNTH OPNDN DXWIFNN NVW NND Ty 1720 0) NNIN INND
NNXNYN DV PONOPN 200950 PNINAN NN NRNND 5 P92 2970 NID NND TY NI 0PV

Airy

© w3k e w3k+1
(8.13) y(z) = ao (1 + 1;1 2-3-5.6.8.9..-(3k—1).3k> +a: <m + 1;1 3~4~6~7~9~10m3k«(3k+1))

,ag DMIDYID NPINYD MNNYN IR DAP) ,z = 3 ,= = —3 DY 1OV NAYN NIN NIANN T DY
MYNNNI VIV PN 2N NV ONIN DY AINNYND NAY 2090 PINSN NN DAPD |, a;y
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DINRNINN DN M) NZZNumPy

a = —3.899582585804049

a; = 2.527852502969321

NOVXYA NOPY RO NNt VYN PIPNS 2aP) (8.13) 590N NINSA NONX DXDIY NANN >T DY
JINY P0mw NZNumPy TS 7wp on TYnNna 07900 OVWI9NN

.[0.5,1.5] yvopa NNAN NoNNNN N”Yad NN PINS wan)y 4 nnalT
(2 — 2z2)y” — 2y =0
y(1) =0

y'(1) = -1

,(0,2) YOPA DIdNNY MPIN NV NNXI PINS N NPYAD VWY NTND 1) 5.14 VIVN THD DY
JOPN YNNNA = 1 DTIPI DY PN DOV NONNNN INRIN 00000 DOV VIS NN OIND 100
Lo = 1.5 2, =1 ,29 = 0.57Y D 2n DYOP DV NN I1901DY [0.5,1.5] YOPN NN PON)
i=0,1,2,...,2n ,x; = 0.5+ ;- 95D 19N

y OV MDD MY (8.4) NNDNA WNNWY)

d*y _ Yit1 — 2Yi + Y

dx? Ax?
H(x? — 2z)y” — 2y NOV IRNYNN DV NPINNN NNIND DX D3PI

it1 — 2Y; i
)
2y; Ax? ]
Yir1 —20i+Yisr— 5 — =0
x? — 2x;
d = Az "0 YNNI
2d%y;
Yit1 —2Yi +Yi1— —5——— =0
x? — 2x;
- 925
2
yi+1—<2—|—2 )yi+yi—1:0
x; — 2x;

NOYW NN NIPND 1921 ,(0.5,1.5) YOPA DARNN PN z? — 2z; MNOANY NTND NYP NO
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9 z; = 0.5+ 5= N Lz; 22TY YD MY AVN TN

) i\? i
z?—2z; = (054+—| —2(0.5+ —
2n 2n

= O25—|—i—|—i2 1 ¢
N 4n? n

= — — — —0.75

120 NI y; OV ¢; DTPNRN

<2 4 2d? ) N 2d?
c; = — —_ = —2— — -
x? — 2x; B — L —0.75
8n2d?
= —2— .
2 —2ni — 3n?2
125 WOP
8n2d?
C; = —2 — -
2 —2ni — 3n?2
Yir1 ,Yi ,Yi—1 DINVNI TPINOYD INNWYN DIAP) i =1,2,...,2n — 1 NNV 4 D39 125
Yi-1tCYi +Yir1 =0
NOWNN NAOVND .Yan ... Y1 ,Yo DY) 21 4+ 172 NPINOYD MNNVYD 2n — 1 NODP

NYRIN NONNNN ONRIND .5 = 2n NNV ,i = 0 NIV OPNIYV MIRNYN PNV Ty 130 MWIT
y'(1) = —1 WD NONNNN NINN .(tz, =1 NIND) gy, = 0 IRNYNN DX D2P) y(1) =0

0ap
yn—i—l — Yn _ yn+1
d d
Yng1 = —d = —5= NION2 I

-1=94'(1) =

Sy DNOYY 20+ 171 MNNIVYN 2n 4+ 1 OV IPINYY NDIYN 30 OX NO1P

yn:O
Yot ciys +y2=0
Y1 +cay2 +ys =0

Y2 +c3ys +ys =0

Yoan—2 + C2n—1Y2n—1 + Y2 = 0

Yn+1 — —d
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NN NI TPN (D207 DONTPN N¥IVN) DT NON MOIYN NINS MPNN MOY MN»P
:(NZNumPy n2°a0) 11179 MIDYNN NOYA YNANN M PRI RONT

a=0.5

b=1F5

n = 50 ‘ J
dx = (b-a)/(2*n)

# Linear system of (2n+1)x(2n+1) equations: AY = B

# A = coefficients matrix

A = np.zeros((2*n+1,2*n+1))

# Right side coefficients array

B = np.zeros(2*n+1)

# A = coefficients matrix for our (2n+1)x(2n+1) linear system
# These define 2n-1 linear equations out of 2n+1 that we need for our
# 2n+1 unknowns: Y[@], Y[1], ... Y[2n].
# Note that A[i,i-1], A[i,1], A[i,i+1] are the coefficients of Y[i-1], Y[i], Y[i+1], respectively
for i in range(l, 2*n):

Ml at=it]] = il

Ali,i] =7 = (B2 © R/ (R = PR o SRR

Ali,i+l] = 1

B[]
Ale,n] =1
B[n] = @
A[2*n,n+1] = 1 # This is the coefficient of Y[n+1]
B[2*n] = -dx # This is the right side value: 1 * Y[n+l1l] = -dx

# Then we solve our system
Y = np.linalg.solve(A, B)

Python/Numpy "1 2y n>2ynn [INND :8.10 1I'N

PINS NNONN DY NN NVWA NPYIAN DX NIND ,NDAPNNY NIRNIND DX NNNRD >»TO3
MNID NIV D PIND NPOON EASymPy NDaN .z = 1 NTIPIN 220 MPIN NV NNINA
8.10 TYND NIVIPNN NHANNA

2 z-1)" (-1)° (z-1)°
y(m)zCl-<1—(a:—1))—|—Cz(:c— 35 — s — 3 -1 +O<;1‘;9>
WOV NIPPRa .Cy = y/(1) ,C1 = y(1) :NONNNN NN 29 Dy Oyapy ,C, ,C; DNTPNN
NN 1OV 1”YaD 090 PINON PN ,Ce = -1 ,C, =0
(:v—l)?’Jr (51:—1)54r (z — 1)
15 35

y(@) =1 -z +

NINSN OY TIONN (PO DI P) g8 SymPy 5S¢ »9120°00 PINSN THD ONY 8.11 IPN2
(21N 11P) ©”9ODN DVWISNN NV MYNNNI NIODPY 11NN
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0.4 1 FDM
Real esuums
0.2
O
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-0.2 4
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0.6 0.8 1.0 1.2 1.4
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